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A R C T B
1 Changes to InvestLogic.xls
2 [ [
3 Sheet Cell Old Formula New Formula
4 |3-Drop and NID N2 T:NumLots*Units*VLOOKUI’—’(JZ,l\/lateria‘fAerialDrop,2) =NumLots*Units*VLOOKUP(J2,MaterialAerialDrop,2)*(1-0.217)
5 |3-Drop and NID N3 =NumlLots*Units*VLOOKUP(J3,MaterialBuriedDrop,2) |=NumLots*Units*VLOOKUP(J3,MaterialBuriedDrop,2)*(1-0.217)
6 |3-Drop and NID 02  =SUM(AB2:AD2) =SUM(AB2:AD2)*(1-0.217) -
7 |3-Drop and NID 03  |=SUM(AB3:AD3) =SUM(AB3:AD3)*(1-0.217)
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A B i C I D
{ Changes to InvestLogic.xls
> _
3 Sheet Cell Old Formula New Formula - ,,&;
3.DLC.RT P2 =IF(SUM(EW2:$Y2)=0,0,(VLOOKUP($G2,DLCRTChannelUnitCosts,15,FALSE)*"VLOOKU :-IF(SUM($W2 $Y2)=0,0,IF(SUM($2$2:3AB$23)<449 VLOOKUP($G2,DLCRTChannel
|P($D2,DLCVendorMix,2, FALSE)+VLOOKUP($G2,DLCRTChannelUnitCostsVendorB,15,F  UnitCosts,15 FALSE),VLOOKUP($G2,DLCRTChanneiUnitCostsVendorB,15,FALSE))
4 !ALSE)*VLOOKUP($D2,DLCVendorMix,3|FALSE))) ) ]
P3 j:lF(SUM($W3:$Y3)=0,0,(VLOOKUP($G3,DLCRTChanneiUnitCosts,15,FALSE)'VLOOKU [=IF(SUM(SW3:$Y3)=0,0,IF(SUM($Z$2:5AB$23)<449, VLOOKUP($G3,DLCRTChannel
' P($D3,DLCVendorMix,2,FALSE)+VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,15,F |UnitCosts, 15 FALSE),VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,15,FALSE))
5 - - /ALSE)*VLOOKUP($D3,DLCVendorMix,3,FALSE))) - ) - |
P4 =IF(SUM($W4:8Y4)=0,0,(VLOOKUP($G4,DLCRTChannelUnitCosts,15,FALSE)*VLOOKU |=IF(SUM($W4:$Y4)=0,0,IF(SUM(SZ$2: $AB$23)<449,VLOOKUP($G4,DLCRTChannel
P($D4,DLCVendorMix,2,FALSE)+VLOOKUP($G4,DLCRTChannelUnitCostsVendorB,15,F |UnitCosts,15,FALSE),VLOOKUP($G4,DLCRTChannelUnitCostsVendorB,15 FALSE))
6 |ALSE)*VLOOKUP($D4,DLCVendorMix,3,FALSE))) ) ]
P5 1=|F(SUM($W5:$Y5)=0,0,(VLOOKUP($GS,DLCRTChannelUnitCosts,15,FALSE)*VLOOKU =IF(SUM(SW5:$Y5)=0,0,IF(SUM($2$2:3AB$23)<449,VLOOKUP($G5,DLCRTChannel
P($D5,DLCVendorMix,2, FALSE)+VLOOKUP($G5,DLCRTChannelUnitCostsVendorB,15,F |UnitCosts,15,FALSE) VLOOKUP($G5,DLCRTChannelUnitCostsVendorB,15,FALSE))
7 ALSE)*VLOOKUP($D5,DLCVendorMix,3,FALSE))) ) -
PG =IF(SUM(SW6:5Y6)=0,0,(VLOOKUP($G6,DLCRTChannelUnitCosts,15,FALSE)*VLOOKU | =IF(SUM(SW6:$Y6)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G6,DLCRTChannel
P($D6,DLCVendorMix,2,FALSE)+VLOOKUP($G6,DLCRTChannelUnitCostsVendorB,15,F |UnitCosts,15,FALSE),VLOOKUP($G6,DLCRTChannelUnitCostsVendorB,15,FALSE))
8 ALSE)*VLOOKUP($D6,DLCVendorMix,3,FALSE))) )
e ;=lF(SUM($W7:$Y7)=0,0,(VLOOKUP($G7,DLCRTChannelUnitCosts,15,FALSE)*VLOOKU |=IF(SUM(SWT7:5Y7)=0,0,IF(SUM($Z$2:5AB$23)<449,VLOOKUP($G7,DLCRTChannel
|P($D7,DLCVendorMix,2,FALSE)+VLOOKUP($G7,DLCRTChannelUnitCostsVendorB,15,F | UnitCosts,15,FALSE),VLOOKUP($G7,DLCRTChannelUnitCostsVendorB,15,FALSE))
9 :‘ALSE)*VLOOKUP($D7,DLCVendorMix,S,FALSE))) ) S
P8 |=IF(SUM($W8:§Y8)=0,0,(VLOOKUP($G8,DLCRTChannelUnitCosts, 15,FALSE)*VLOOKU =|F(SUM($W8:$Y8)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G8,DLCRTChannel
P($D8,DLCVendorMix,2,FALSE)+VLOOKUP($G8,DLCRTChannelUnitCostsVendorB,15,F |UnitCosts,15,FALSE),VLOOKUP($G8,DLCRTChannelUnitCostsVendorB,15,FALSE))
10 ALSE)*VLOOKUP($D8,DLCVendorMix,3,FALSE))) )
Pg “-IF(SUM $W9:$Y9)=0,0,(VLOOKUP($G9,DLCRTChannelUnitCosts, 15, FALSE)*VLOOKU |=IF(SUM($W9:$Y9)=0,0,IF(SUM($Z$2:5AB$23)<449,VLOOKUP($G9,DLCRTChannel
P($D9,DLCVendorMix,2, FALSE)+VLOOKUP($G9,DLCRTChannelUnitCostsVendorB,15,F |UnitCosts,15,FALSE),VLOOKUP(3G9,DLCRTChannelUnitCostsVendorB,15,FALSE))
11 ALSE)*VLOOKUP($D9 DLCVendorMix,3,FALSE))) ) ]
} P10 —IF(SUM($W1O $Y10)=0,0,(VLOOKUP($G10,DLCRTChannelUnitCosts, 15, FALSE)*VLOO |=IF(SUM(SW10:$Y10)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G10,DLCRTCha
| KUP($D10,DLCVendorMix,2,FALSE)+VLOOKUP($G10,DLCRTChannelUnitCostsVendorB \nneIUthosts 15,FALSE),VLOOKUP($G10,DLCRTChannelUnitCostsVendorB,15,FA
12 N ,15,FALSE)*VLOOKUP($D10,DLCVendorMix,3,FALSE))) ILSE))) ]
P11 =IF(SUM(SW11:$Y11)=0,0,(VLOOKUP($G11,DLCRTChannelUnitCosts,15,FALSE)*VLOO | =IF(SUM(SW11:$Y11)=0,0,IF(SUM($2$2:5AB$23)<449,VLOOKUP($G11,DLCRTCha
KUP($D11,DLCVendorMix,2,FALSE)+VLOOKUP($G11,DLCRTChannelUnitCostsVendorB |nnelUnitCosts,15,FALSE),VLOOKUP($G11,DLCRTChannelUnitCostsVendorB,15,FA
13 ,15,FALSE)*VLOOKUP($D11,DLCVendorMix,3,FALSE))) |LSE)))
P12 I=IF(SUM(SW12:$Y12)=0,0,(VLOOKUP($G12, DLCRTChannelUnitCosts,15,FALSE)*VLOO | =IF(SUM($W12:$Y12)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G12,DLCRTCha
3 KUP($D12,DLCVendorMix,2,FALSE)+VLOOKUP($G12,DLCRTChannelUnitCostsVendorB |nnelUnitCosts, 15,FALSE),VLOOKUP(3G12,DLCRTChannelUnitCostsVendorB,15,FA
14 | ,15,FALSE)*VLOOKUP($D12,DLCVendorMix,3,FALSE))) LSE)))
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1
T

‘—IF(SUM($W13 :$Y13)=0,0,(VLOOKUP($G13,DLCRTChannelUnitCosts,15,FALSE)*VLOO | —IF(SUM ($W13:$Y13)=0,0,IF(SUM($23$2:3AB$23)<449,VLOOKUP($G13,DLCRTCha
KUP($D13,DLCVendorMix,2,FALSE)+VLOOKUP($G13,DLCRTChannelUnitCostsVendorB mnelUnltCosts 15,FALSE),VLOOKUP($G13,DLCRTChannelUnitCostsVendorB,15 FA
,15,FALSE)"VLOOKUP($D13,DLCVendorMix,3,FALSE))) ,LSE ))

P13

=IF(SUM(SW 14:5Y14)=0,0,(VLOOKUP($G14,DLCRTChannelUnitCosts,15,FALSE)*"VLOO | ‘”:(Q' IM(SW14:8Y14)=0,0,IF(SUM($Z$2:5A
UP(

'KUP($D14,DLCVendorMix,2,FALSE)+VLOOKUP($G14,DLCRTChannelUnitCostsVendorB nneIUthosts 15 FALSE) VLOOKUP($G14,DLCR TChannelUthostsVendorB 15,FA

AB$23)<449 VLOOKUP($G14,DLCRTCha

P14

|,15,FALSE)*VLOOKUP($D14,DLCVendorMix,3, FALSE))) LSE)))
N [

|
=IF(SUM(SW15:$Y15)=0,0,(VLOOKUP($G 15,DLCRTChannelUnitCosts,15,FALSE)*VLOO =IF(SUM($W15:$Y15)=0,0,IF(SUM($Z$2:3AB$23)<449 VLOOKUP($G15,DLCRTCha

28 |KUP($D15,DLCVendorMix,2, FALSE)+VLOOKUP($G15,DLCRTChannelUnitCostsVendorB  nnelUnitCosts, 15,FALSE),VLOOKUP($G 15, DLCRTChannelUnitCostsVendorB, 15, FA

17

1,15,FALSE)*VLOOKUP($D15,DLCVendorMix,3,FALSE)))

\LSE))

18

2,FALSE)+VLOOKUP($AC16,DLCRTChannelUnitCostsVend

orfMiy
NAGOTVIIX, £, 7 A

i
orB,15,FALSE)*VLOOKUP($D16,DLCVendorMix,3,FALSE)))

6)=0,0,(VLOOKUP($AC16,DLCRTChannelUnitCosts, 15,FALSE)*VLO { =IF(SUM(SW16:8Y16)=0,0,IF(SUM($2$2:$AB$23)<449,VLOOKUP(SAC16,DLCRTCh

annelUnitCosts, 15,FALSE),VLOOKUP($AC16,DLCRTChannelUnitCostsVendorB, 15,

FALSE)))

19

P17

=IF(SUM(SW17:8Y17)=0,0,(VLOOKUP($AC17, DLCRTChannelUnitCosts,15,FALSE)*VLO
OKUP($D17,DLCVendorMix,2,FALSE)+VLOOKUP($AC17,DLCRTChannelUnitCostsVend
orB,15,FALSE)*VLOOKUP($§D17,DLCVendorMix,3,FALSE)))

i =IF(SUM(SW17:8Y17)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP(SAC17, DLCRTCh
‘annelUnitCosts,15,FALSE),VLOOKUP($AC17,DLCRTChannelUnitCostsVendorB, 15,
FALSE)))

20

P18

| =IF(SUM(SW18:$Y18)=0,0,(VLOOKUP($AC18,DLCRTChannelUnitCosts,15,FALSE)*VLO
OKUP($D18,DLCVendorMix,2,FALSE)+VLOOKUP($AC18,DLCRTChannelUnitCostsVend
orB,15,FALSE)*VLOOKUP($D18,DLCVendorMix,3,FALSE)))

=IF(SUM(SW18:$Y18)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP(SAC18,DLCRTCh
annelUnitCosts,15,FALSE),VLOOKUP($AC18,DLCRTChannelUnitCostsVendorB,15,
FALSE)))

21

P19

|

=IF(SUM(§W 19:8Y19)=0,0,(VLOOKUP($AC 19,DLCRTChannelUnitCosts, 15, FALSE)*VLO
OKUP($D19,DLCVendorMix,2,FALSE)+VLOOKUP($AC19,DLCRTChannelUnitCostsVend
orB,15,FALSE)*VLOOKUP($D19,DLCVendorMix,3,FALSE)))

y‘=IF(SUM($W1 9:$Y19)=0,0,IF(SUM($Z$2:3AB$23)<449 VLOOKUP(SAC19,DLCRTCh
annelUnitCosts,15,FALSE),VLOOKUP($AC19,DLCRTChannelUnitCostsVendorB, 15,
FALSE)))

22

P20

=IF(SUM(§W20:$Y20)=0,0,(VLOOKUP($G20,DLCRTChannelUnitCosts,15,FALSE)*VLOO
KUP($D20,DLCVendorMix,2,FALSE)+VLOOKUP($G20,DLCRTChannelUnitCostsVendorB
,15,FALSE)*VLOOKUP($D20,DLCVendorMix,3,FALSE)))

‘ nnelUnitCosts,15,FALSE),VLOOKUP($G20,DLCRTChannelUnitCostsVendorB,15 FA

=IF(SUM($W20:8Y20)=0,0,IF(SUM($2$2:3AB$23)<449,VLOOKUP($G20,DLCRTCha

LSE))

23

P21

=|F(SUM(§W21:$Y21)=0,0,(VLOOKUP($G21,DLCRTChannelUnitCosts,15,FALSE)*VLOO
KUP($D21,DLCVendorMix,2, FALSE)+VLOOKUP($G21,DLCRTChannelUnitCostsVendorB
|,15,FALSE)*VLOOKUP($D21,DLCVendorMix,3,FALSE)))

=IF(SUM($W21:8Y21)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G21,DLCRTCha
nnelUnitCosts, 15,FALSE),VLOOKUP($G21,DLCRTChannelUnitCostsVendorB, 15 FA
LSE)))

24

P22

=IF(SUM(SW22:8Y22)=0,0,(VLOOKUP($G22,DLCRTChannelUnitCosts, 15,FALSE)*VLOO
'KUP($D22,DLCVendorMix,2,FALSE)+VLOOKUP(3G22,DLCRTChannelUnitCostsVendorB
,15,FALSE)*VLOOKUP($D22,DLCVendorMix,3,FALSE)))

=IF(SUM($W22:$Y22)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G22,DLCRTCha
nnelUnitCosts, 15,FALSE),VLOOKUP($G22,DLCRTChannelUnitCostsVendorB,15,FA
LSE)))

25

P23

‘ =IF(SUM($W23:$Y23)=0,0,(VLOOKUP($G23,DLCRTChannelUnitCosts,15,FALSE)*VLOO
jKUP($D23,DLCVendorMix,ZFALSE)+VLOOKUP($G23,DLCRTChannelUnitCostsVendorB

=IF(SUM(SW23:$Y23)=0,0,IF(SUM($Z32:$AB$23)<449,VLOOKUP($G23,DLCRTCha
nnelUnitCosts,15,FALSE),VLOOKUP($G23,DLCRTChannelUnitCostsVendorB,15,FA
LSE)))

26

P24

#@LSE)*VLOOKUP@DZB, DLCVendorMix,3,FALSE)))

|=DSUM(DLCRTCommonCosts, 15,$A37:$B38)*VLOOKUP($D23 DLCVendorMix,2,FALSE)

~1 AC N e T AV PN e

| *DSUM(DLCRTCommonCostsVendorB,

|3,FALSE)

’ |LCRTCommonCostsVendorB,15,$A37:5838))
|

=IF(SUM(3Z82:3AB$23)<449 DSUM(DLCRTCommonCosts, 15,$A37:$838),DSUM(D
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A | B & D
=DSUM(DLCRTCommonCosts,15,$D$37:3E$38)*VLOOKUP($D23,DLCVendorMix,2,FAL |
P25 N |=IF(SUM($Z$2:5AB$23)<449,DSUM(DLCRTCommonCosts, 15, $D$37:$ES$38),DSUM(
. SE)+DSUM(DLCRTCommonCostsVendorB,15,$D$37:$E$38)*VLOOKUP($D23,DLCVend \DLCRTCommonCostsVendorB 15.$D$37-SE$38))
27 \OI"\/hA 3,FALSE) - -
Py | oo-MELERICemmonEests IR ke 3”:)“"30“‘“”’\3 2 “Lc'e dorMix 2 FAL |1 o n(s252:5ABS23)<449, DSUM(DLCRTGommonCosts, 15,5D$4 1:$E$42),D
SE)+DSUM(DLCRTCommonCostsVendorB, 15, §D$41:SE$42)"VLOOKUP($D23,DLCVend P
8 | orMix. 3. FALSE) DLCRTCommonCostsVendorB,15,$D%41:5E$42)) B
=DSUM(DLCRTCommonCosts,15,$D$45:$E$46)*VLOOKUP($D23,DLCVendorMix,2,FAL
7 | ! ! " = " i
= 'SE)+DSUM(DLCRTCommonCostsVendorB, 15,8D$45:$E$46)*VLOOKUP($D23,DLCVend IF(SUM($Z52:3AB523)<449,DSUM(DLCRTCommonCosts, 15,5D545:5E846), DSUM(
) DLCRTCommonCostsVendorB,15,$D$45:5E$46))
29 (orMix,3,FALSE)
i
s |=DSUM(DLCRTCommonCosts, 15,5G$37:$H$38)*VLOOKUP($D23,DLCVendorMix,2,FAL |, e inray o ete .
et 'SE}+DSUM(DLCRTCommonCostsVendorB, 15,$G$37:3H$38)*VLOOKUP($D23,DLCVend =IF(SUM(SZ52:3AB$23)< 44?’0_8%%@':.0.?1?"::;?“' 1Costs, 15,$G337:$H$38).DSUM
30 orMix,3,FALSE) (DLCRTCommonCostsVendorB,15,$G$37:5H$38))
\ ‘
| . |
=DSUM(DLCRTCommonCosts,15,$J$37:$K$38)*VLOOKUP($D23,DLCVendorMix,2,FALS ; .
P2s ! ; i =|F(SUM($Z$2:$AB$23)<449,DSUM(DLCRTCommonCOSts,15,$J$37.$K$38),DSUM(
fE)+DSUM(DLCRTCommonCostsVendorB,15,$J$37.$K$38) VLOOKUP($D23,DLCVendor DLCRTCommonCostsVendorB, 15.5J$37:5K$38))
31 Mix,3,FALSE) B
Q2 =IF(SUM($W2:$Y2)=0,0,(VLOOKUP($G2,DLCRTChannelUnitCosts,16,FALSE)*VLOOKU =IF(SUM($W2:$Y2)=0,0,!F(SUM($Z$2:$AB$23)<449,VLOOKUP($G2,DLCRTChanneK
'P($D2,DLCVendorMix,2, FALSE)+VLOOKUP($G2,DLCRTChannelUnitCostsVendorB,16,F UnitCostS,16,FALSE),VLOOKUP($G2,DLCRTChannelUnitCostsVendorB,16,FALSE))
32 /ALSE)"VLOOKUP($D2,DLCVendorMix,3,FALSE)) )
; Q3 |=IF(SUM(5W3:$Y3)=0,0,(VLOOKUP($G3,DLCRTChannelUnitCosts, 16,FALSE)*VLOOKU =IF(SUM($W3:SY3)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP(SGB,DLCRTChanne!
| P($D3,DLCVendorMix,2,FALSE)+VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,16,F UnitCosts,16,FALSE),VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,1 6,FALSE))
33 | ALSE)*VLOOKUP($D3,DLCVendorMix,3,FALSE))) ) B
‘ Q4 =IF(SUM($W4:$Y4)=0,0,(VLOOKUP($G4,DLCRTChannelUnitCosts, 16,FALSE)*VLOOKU =IF(SUM($W4:$Y4)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G4,DLCRTChanneI
P($D4,DLCVendorMix,2,FALSE)+VLOOKUP($G4,DLCRTChannelUnitCostsVendorB,16,F UnitCostS,16,FALSE),VLOOKUP($G4,DLCRTChanneIUnitCostsVendorB,16,FALSE))
34 ALSE)*VLOOKUP($D4,DLCVendorMix,3,FALSE))) )
Qs =|F(SUM(SW5:8$Y5)=0,0,(VLOOKUP($G5,DLCRTChannelUnitCosts, 16,FALSE)*VLOOKU =IF(SUM($W5:$Y5)=0,0,!F(SUM($Z$2:$AB$23)<449,VLOOKUP($G5,DLCRTChannel
P($D5,DLCVendorMix,2,FALSE)+VLOOKUP($G5,DLCRTChannelUnitCostsVendorB,16,F UnitCosts,‘|6,FALSE),VLOOKUP($GS,DLCRTChannelUnitCostsVendorB,16,FALSE))
35 ALSE)*VLOOKUP($D5,DLCVendorMix,3,FALSE))) )
‘ Q6 =IF(SUM($W6:$Y6)=0,0,(VLOOKUP($G6,DLCRTChannelUnitCosts, 16, FALSE)*VLOOKU =IF(SUM($W6:$Y6)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G6,DLCRTChannel
P($D6,DLCVendorMix,2,FALSE)+VLOOKUP($G6,DLCRTChannelUnitCostsVendorB,16,F UnitCosts, 16,FALSE),VLOOKUP($G6,DLCRTChannelUnitCostsVendorB,16,FALSE))
36 ALSE)*VLOOKUP($D6,DLCVendorMix,3,FALSE))) )
Q7 =IF(SUM($W7:$Y7)=0,0,(VLOOKUP($G7,DLCRTChannelUnitCosts, 16, FALSE)*VLOOKU =lF(SUM($W7:$Y7)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G7,DLCRTChanneI
P($D7,DLCVendorMix,2,FALSE)+VLOOKUP($G7,DLCRTChannelUnitCostsVendorB,16,F UnitCosts,16,FALSE),VLOOKUP($G7 DLCRTChannelUnitCostsVendorB,16,FALSE))
37 ALSE)*VLOOKUP($D7,DLCVendorMix,3,FALSE))) ) |
Q8 ‘=1F(SUM($W8 $Y8)=0,0,(VLOOKUP($G8,DLCRTChannelUnitCosts, 16,FALSE)*VLOOKU |=IF(SUM($W8:$Y8)=0,0, IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G8,DLCRTChannel
P($D8,DLC‘v’Andor%‘v‘ux 2 FALSE)*VLOOKUP($G8, DLCRTChannelUnitCostsVendorB,16,F | UnitCosts, 16,FALSE), VLOOKUP($G8, DLCRTChannelUnitCostsVendorB.16,FALSE))
38 ALSE)*VLOOKUP($D8,DLCVendorMix,3,FALSE))) )
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| D

w
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Q9

40

Q10

_ ALSE)"VLOOKUP(SD9,DLCVendorMix,3,FALSE))

=IF(SUM(SW9:$Y9)=0,0,(VLOOKUP($G9,DLCRTChannelUnitCosts, 16,FALSE)*VLOOKU
P($D9,DLCVendorMix,2,FALSE)+VLOOKUP($G9,DLCRTChannelUnitCostsVendorB,16,F

AATCAATA T\ /1 ID/CAN N CPRTORS

=IF(SUM(SW10:8Y10)=0,0,(VLOOKUP($G10,DLCRTChannelUnitCosts, 16,FALSE}*VLCO

A
ALOLC ) VLUV

'KUP($D10,DLCVendorMix,2,FALSE)+VLOOKUP($G10,DLCRTChannelUnitCostsVendorB |

=IF(SUM(SW9:$Y9)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G9,DLCRTChannel
'UnitCosts,16,FALSE),VLOOKUP($G9,DLCRTChannelUnitCostsVendorB,16,FALSE))

I .

=|F(SUM{SW10:$Y10)=0,0,IF(SUM($232:$AR$23)<449 VL OOKUP($G10,DLCRTCha

SICOUNVISVV IV T U=V UM (SUIVIRLRL. OADDLD

nnelUnitCosts, 16, FALSE) VLOOKUP($G1O DLCRTChanneIUn|tCosts\/endorB 16,FA
LSE)))

41

Q11

1, 16,FALSE)*"VLOOKUP($D10,DLCVendorMix,3,FALSE)))

‘=IF(SUM($W11:$Y1 1)=0,0,(VLOOKUP($G11,DLCRTChannelUnitCosts,16,FALSE)*VLOO
KUP($D11,DLCVendorMix,2,FALSE)+VLOOKUP($G11,DLCRTChannelUnitCostsVendorB
,16,FALSE)*VLOOKUP($D11,DLCVendorMix,3,FALSE)))

=IF(SUM(SW11:8Y11)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP(§G11,DLCRTCha
InnelUnitCosts,16,FALSE),VLOOKUP($G11,DLCRTChannelUnitCostsVendorB,16,FA
LSE)))

42

Q12

=IF(SUM(SW12: $Y12)' 0.,0,IF(SUM($Z$2:$AB$23)<449 VLOOKUP($G12,DLCRTCha
nnelUnitCosts,16,FALSE) VLOOKUP($G12 DLCRTChannelUnitCostsVendorB,16,FA

LSE))) o o

43

Q13

KUP(8D13,DLCVendorMix,2,FALSE)+VLOOKUP($G13,DLCRTChannelUnitCostsVendorB
,16,FALSE)*VLOOKUP($D13,DLCVendorMix,3,FALSE)))

=IF(SUM($W13:$Y13)=0,0,(VLOOKUP($G13,DLCRTChannelUnitCosts,16,FALSE)*VLOO |

=IF(SUM($W13:$Y13)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G13,DLCRTCha
InnelUnitCosts,16,FALSE),VLOOKUP($G13,DLCRTChannelUnitCostsVendorB,16,FA
LSE)))

44

Q14

|=IF(SUM(SW14:5Y14)=0,0,(VLOOKUP($G14,DLCRTChannelUnitCosts, 16 FALSE)*VLOO
} KUP($D14,DLCVendorMix,2,FALSE)+VLOOKUP($G14,DLCRTChannelUnitCostsVendorB
,16,FALSE)*VLOOKUP($D 14,DLCVendorMix,3, FALSE)))

=IF(SUM(SW14:3Y14)=0,0,IF(SUM($Z$2:5AB$23)<449,VLOOKUP($§G 14, DLCRTCha
nnelUnitCosts,16,FALSE),VLOOKUP($G14,DLCRTChannelUnitCostsVendorB,16,FA
LSE))

45

46

Q15

Q16

=IF(SUM(SW15:8Y15)=0,0,(VLOOKUP($G15,DLCRTChannelUnitCosts, 16,FALSE)*VLOO
'KUP($D15,DLCVendorMix,2, FALSE)+VLOOKUP($G15,DLCRTChannelUnitCostsVendorB
| 16,FALSE)*VLOOKUP($D15,DLCVendorMix,3,FALSE)))

=IF(SUM(W15:8Y15)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($§G15,DLCRTCha
nnelUnitCosts,16,FALSE),VLOOKUP($G15,DLCRTChannelUnitCostsVendorB,16,FA
LSE)))

=IF(SUM($W16:3Y16)=0,0,(VLOOKUP($AC16,DLCRTChannelUnitCosts, 16,FALSE)*VLO
OKUP($D16,DLCVendorMix,2, FALSE)+VLOOKUP($AC16,DLCRTChannelUnitCostsVend
orB,16,FALSE)*VLOOKUP($D16,DLCVendorMix,3,FALSE)))

=IF(SUM(SW16:$Y16)=0,0,IF(SUM($2$2:$AB$23)<449 VLOOKUP(SAC16,DLCRTCh
annelUnitCosts,16,FALSE),VLOOKUP($AC16,DLCRTChannelUnitCostsVendorB, 16,
FALSE)))

47

Q17

=IF(SUM(§W17:8Y17)=0,0,(VLOOKUP($AC17, DLCRTChannelUnitCosts, 16, FALSE)*VLO
OKUP($D17,DLCVendorMix,2,FALSE)+VLOOKUP($AC17 DLCRTChannelUnitCostsVend
orB,16,FALSE)*VLOOKUP($D17,DLCVendorMix,3,FALSE)))

=IF(SUM($W17:$Y17)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP(SAC17,DLCRTCh
annelUnitCosts,16,FALSE),VLOOKUP(SAC17,DLCRTChannelUnitCostsVendorB,16,
FALSE)))

48

Q18

OKUP($D18,DLCVendorMix,2,FALSE)+VLOOKUP($AC18, DLCRTChannelUnitCostsVend
orB,16,FALSE)*VLOOKUP($D18,DLCVendorMix,3,FALSE)))

=IF(SUM(SW18:8Y18)=0,0,(VLOOKUP(SAC18,DLCRTChannelUnitCosts, 16,FALSE)*VLO |

=IF(SUM($W18:$Y18)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP(SAC18,DLCRTCh
,annelUthosts 16,FALSE),VLOOKUP(SAC18,DLCRTChannelUnitCostsVendorB,16,
|[FALSE)))

49

Q19

i =IF(SUM(EW19:$Y19)=0,0,(VLOOKUP($AC19,DLCRTChannelUnitCosts, 16,FALSE)*VLO
OKUP($D19,DLCVendorMix,2,FALSE)+VLOOKUP($AC19,DLCRTChannelUnitCostsVend
orB,16,FALSE)*VLOOKUP($D19,DLCVendorMix,3,FALSE)))

=IF(SUM(SW19:$Y19)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP(SAC19,DLCRTCh
annelUnitCosts,16,FALSE),VLOOKUP($AC19,DLCRTChannelUnitCostsVendorB, 16,
FALSE)))

50

Q20

_‘-—IF(SUM($W20 $Y20)=0,0,(VLOOKUP($G20,DLCRTChannelUnitCosts,

Drann AN IDEASN M ART =

\!‘\U!”(bU&U DLCVendoriViix, 2, I'I"\LDE.}"'VL.UUT\UT‘\Q\JAU DLCRTChannetUni
‘ ,16,FALSE)*VLOOKUP($D20,DLCVendorMix,3,FALSE)))

2:3AB$23)<449,VLOOKUP($G20,DLCRTCha

OOKUP(8G20,DLCRTChannelUnitCostsVendorB,16,FA

SLU, e wOSIS aores

=IF(SUM(SW20:$Y20)=

memall In i ot 4
i

NNeiunituost

LSE)))
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D

=[F(SUM($W21:8Y21)=0,0,(VLOOKUP($G21,DLCRTChannelUnitCosts, 16, FALSE}*VLOO

=IF(SUM(SW21:8Y21)=0,0,IF(SUM($Z$2:$AB$23)<449 VLOOKUP($G21,DLCRTCha

ua KUP($D21,DLCVendorMix,2, FALSE)+VLOOKUP($G21,DLCRTChannelUnitCostsVendorB ‘nnelUnitCosts,16,FALSE),VLOOKUP($G21,DLCRTChannelUnitCostsVendorB,16,FA
51 o o ) ‘,16,FALSE)*\/LOQKQP¥(§7DEZJ,Drl‘_ﬁC_‘v’endor.“v"‘.éx,3,FALSE))) ) - LSE))) ) o -
Q22 =IF(SUM(SW22:$Y22)=0,0,(VLOOKUP($G22 DLCRTChannelUnitCosts, 16 FALSE)*VLOO =IF(SUM(SW22:8Y22)=0,0,IF(SUM($2$2:3AB$23)<449,VLOOKUP(8G22,DLCRTCha
KUP($D22,DLCVendorMix,2,FALSE)+VLOOKUP($G22,DLCRTChannelUnitCostsVendorB nnelUnitCosts,16,FALSE),VLOOKUP($G22,DLCRTChannelUnitCostsVendorB,16,FA
52 ~ 16,FALSE)*VLOOKUP($D22,DLCVendorMix,3,FALSE))) LSE)) i ]
Q23 :‘=IF(SUM($W23:$Y23):0,0,(VLOOKUP($G23,DLCRTChannelUnitCosts,16,FALSE)*VLOO =IF(SUM(SW23:$Y23)=0,0,IF(SUM($2$2:$AB$23)<449,VLOOKUP($G23,DLCRTCha
}KUP($D23,DLCVendorMix,z,FALSE)+VLOOKUP($GZ3,DLCRTChannelUnitCostsVendorB nnelUnitCosts,16,FALSE),VLOOKUP($G23,DLCRTChannelUnitCostsVendorB,16,FA
53 |,16,FALSE)*VLOOKUP($D23,DLCVendorMix,3,FALSE))) LSE))
|
|
o '=DSUM(DLCRTCommonCosts, 16,$A37:3B38)*VLOOKUP($D23,DLCVendorMix,2, FALSE)| _ . .
! Q24 +DSUM(DLCRTCommonCostsVendorB, 16,$A37:$838)"VLOOKUP($D23, DLCVendorMix flF(SU!‘A($Z$2.$AB$23)<449,DSUM(DLCRTCommonCosts,16,$A37~$838),DSUM(D
54 ‘ 3,FALSE) L S " |LCRTCommonCostsVendorB,16,5A37:5B38))
;=DSUM(DLCRTCommonCosts,16,$D$37:$E$38)*VLOOKUP($D23,DLCVendorMix,Z,FAL _ . .
Q25 | SE)+DSUM(DLCRTCommonCostsVendorB, 16,$D$37:SES38)*VLOOKUP($D23,DLCVend "F(SUM($Z$2'$AB$2?/)<449'DSUM(DLC,RTC"mmO”COS’S’16'$D$37'$E$38)’DSUM‘
55 orMix, 3,FALSE) DLCRTCommonCostsVendorB,16,$D$37:$E$38))
i=DSUM(DLCRTCommonCosi:s,16,$D$41:$E$42)’“VLOOKUP($D23,DLCVendorMix,Z,FAL _ . .
Q26 | E)+DSUM(DLCRTCommonCostsVendorB, 16,$D$41:$E$42)*VLOOKUP($D23,DLCVend "F(SUM($Z$2'$AB$23’<449'DSUM[()DLC,R;CZ;””“O”C"“S'15'$D$41‘$E$42}'DSUM(
- orMix.3 FALSE) DLCRTCommonCostsVendorB,16,$D$41:5E$42))
'=DSUM(DLCRTCommonCosts, 16,8D$45:3E$46)*VLOOKUP($D23,DLCVendorMix,2, FAL :_ . !
Q27 SE)+DSUM(DLCRTCommonCostsVendorB, 16,8D$45:SE$46)"VLOOKUP(SD23,DLCVend “'F(SUM($Z$2'$AB$23)<449'DSUMéDLC,RTCEmmO”C"S’S'16'$D$45'$E$46)'DSUM(
57 lorMix,3,FALSE) DLCRTCommonCostsVendorB,16,5D$45:5E$46))
| ! - ]
=DSUM(DLCRTComm : : ' |
‘ = onCosts, 16,$G$37:$H$38)*VLOOKUP($D23,DLCVendorMix,2,FAL :
5 Q28 } ’ 2 =IF(SUM($Z$2:$AB$23)<449,DSUM(DLCRTCommonCosts, 16,$G$37:3H$38), DSUM
o ‘ ‘irEN)‘;(DZBS’l:J/I:AL(gé)CRTCommonCostsVendorB,16,$G$37.$H$38) VLOOKUP($D23,DLCVend (DLCRTCommonCostsVendorB, 16,8G$37:3H$38))
'=DSUM(DLCRTCommonCosts, 16,$J$37:3K$38)*VLOOKUP($D23,DLCVendorMix,2,FALS
Q29 | ’ y N 2 =[F(SUM($Z2$2:$AB$23)<443,DSUM(DLCRTCommonCosts,16,$J$37:5K$38), DSUM(
o ‘ iII\EA);%SF:li\l\l/j(SDEL)CRTCommonCostsVendorB,16,$J$37.$K$38) VLOOKUP($D23,DLCVendor DLCRTCommonCostsVendorB, 16,8J$37:$K$38))
| ! o
1 R2 =|F(SUM($W2:$Y2)=0,0,(VLOOKUP($G2,DLCRTChannelUnitCosts, 17, FALSE)*VLOOKU |=IF(SUM($W2:$Y2)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G2,DLCRTChannel
P($D2,DLCVendorMix,2, FALSE)+VLOOKUP($G2,DLCRTChannelUnitCostsVendorB,17,F |UnitCosts,17,FALSE),VLOOKUP($G2,DLCRTChannelUnitCostsVendorB, 17, FALSE))
60 {ALSE)*VLOOKUP($D2,DLCVendorMix,3,FALSE))) ) B
[ R3 =[F(SUM($W3:$Y3)=0,0,(VLOOKUP(§G3,DLCRTChannelUnitCosts, 17, FALSE)*VLOOKU :=IF(SUM($W3:$Y3)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G3,DLCRTChannel
P($D3,DLCVendorMix,2, FALSE)+VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,17,F |UnitCosts,17,FALSE),VLOOKUP($G3 DLCRTChannelUnitCostsVendorB,17, FALSE))
61 } ALSE)*VLOOKUP($D3,DLCVendorMix,3,FALSE))) )
- |7
|
J‘ R4 ‘=iF(SUM($W4:$Y4)=0,0,(VLOOKUP($G4,DLCRTChannelUnitCosts,17,FALSE)*VLOOKU =|F(SUM($W4:3Y4)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($§G4,DLCRTChannel
‘ . \P($D4,DLCVendorMix,2, FALSE*+VLOOKUP($G4 DLCRTChannelUnitCostsVendorB,17, F [UnitCosts, 17, FALSE),VLOOKUP($G4,DLCRTChannelUnitCostsVendorB,17,FALSE))
62 i ALSE)*VLOOKUP($D4,DLCVendorMix,3,FALSE))) )
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63

65

66

67

68

__ALSEFVIOOKUP(SD5 DLOVendorMix3,FALSER) : )
/ALSE)*VLOOKUP($D8,DLCVendorMix,3,FALSE))) ) .
__|ALSE OKUP{$SD8,DLCVe , D e

__ALSEy'VLOOKUP(SD7 DLCVendorMix3FALSE)) )

=|F(SUM(SW5:$Y5)=0,0,(VLOOKUP($G5,DLCRTChannelUnitCosts, 17, FALSE*VLOOKU | =IF(SUM($W5:$Y5)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP(§G5,DLCRTChannel
P($D5,DLCVendorMix,2, FALSE)+VLOOKUP($G5,DLCRTChannelUnitCostsVendorB,17,F )UnitCosts,17,FALSE),VLOOKUP($G5,DLCRTChanne&UnitCostsVendorB,17,FALSE))

KUP($G6,DLCRTChannelUnitCosts, 17 FALSE'VLOOKU | =IF(SUM(8W6:3Y6)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($§G6,DLCRTChannel

=|F(SUM({W8:3Y6)=0,0,(VLOOKUP($GE,DLCRTChannelUnj U

IP($D6,DLCVendorMix,2,FALSE)+VLOOKUP($G6,DLCRTChannelUnitCostsVendorB,17,F  UnitCosts,17,FALSE),VLOOKUP($G6,DLCRTChannelUnitCostsVendorB, 17, FALSE))

=IF(SUM(SW7:$Y7)=0,0,(VLOOKUP($G7,DLCRTChannelUnitCosts, 17, FALSE)*VLOOKU |=IF(SUM(SW7:3Y7)=0,0,IF(SUM($Z2$2:5AB$23)<449,VLOOKUP($G7,DLCRTChannel
'P($D7,DLCVendorMix,2, FALSE)+VLOOKUP($G7,DLCRTChannelUnitCostsVendorB, 17 .F ’UnitCosts,17,FALSE),VLOOKUP($G7‘DLCRTChannelUnitCostSVendorB,1 7,FALSE))

|

A AR 47

iP ; rMix,2, FALSE)+VLOOKUP($G8,DLCRTChannelUnitCostsVendorB, 17 .F \‘UnitCosts,17,FALSE),VLOOKUP($GS,DLCRTChanneiUni'tCostsVenuoxD, 17,FALSE))
iALSE)"VLO KUP($D8,DLCVendorMix,3,FALSE))) 1)

«4ALSE)*VLOOKUP($D9,DLCVendorMix,3,FALSE)))

|=IF(SUM($W9:$Y9)=0,0,(VLOOKUP($G9,DLCRTChannelUnitCosts,17,FALSE)*VLOOKU J=lF(SUM($W9:$Y9)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($GQ,DLCRTChanneI
\P($DQ,DLCVendorMix,2,FALSE)+VLOOKUP($GQ,DLCRTChannelUnitCostsVendorB,17,F }UnitCosts,17,FALSE),VLOOKUP($GQ,DLCRTChanneIUnitCostsVendorB,17,FALSE))
b .

[=IF(SUM(SW10:$Y10)=0,0,(VLOOKUP($G10,DLCRTChannelUnitCosts,17,FALSE)*VLOO J=IF(SUM($W10:$Y10)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G1 0,DLCRTCha
IKUP($D10,DLCVendorMix,2,FALSE)+VLOOKUP($G10,DLCRTChannelUnitCostsVendorB nnelUnitCosts,17,FALSE),VLOOKUP($G10,DLCRTChannelUnitCostsVendorB,17,FA
|,17,FALSE)*"VLOOKUP($D10,DLCVendorMix,3,FALSE))) LSE)))

69

70

71

72

R11

|17, FALSE)*VLOOKUP($D11,DLCVendorMix,3,FALSE))) LSE))

R12

} —
;=IF(SUM($W1 1:$Y11)=0,0,(VLOOKUP($G11,DLCRTChannelUnitCosts,17,FALSE)*VLOO ‘]=IF(SUM($W1 1:$Y11)=0,0,IF(SUM($252:3AB$23)<449,VLOOKUP($G11,DLCRTCha
‘KUP($D1 1,DLCVendorMix,2,FALSE)+VLOOKUP($G11,DLCRTChannelUnitCostsVendorB |nnelUnitCosts,17,FALSE),VLOOKUP($G11,DLCRTChannelUnitCostsVendorB,17,FA

T

‘;=|F(SUM($W12:$Y12)=0,0,(VLOOKUP($G12,DLCRTChannelUnitCosts,17,FALSE)*VLOO {=|F(SUM($W12:$Y12)=0,0,lF(SUM($Z$2:$AB$23)<449,VLOOKUP($G12,DLCRTCha
'KUP($D12,DLCVendorMix,2,FALSE)+VLOOKUP($G12,DLCRTChannelUnitCostsVendorB |nnelUnitCosts, 17,FALSE),VLOOKUP($G12,DLCRTChannelUnitCostsVendorB, 17, FA
17, FALSE)*VLOOKUP($D12,0LCVendorMix,3,FALSE))) }LSE)))

__17,FALSE)"VLOOKUP($D13,DLCVendorMix,3, FALSE))) ‘,ﬁ‘k@@)_y“m*ﬁﬂ_‘ S

T

‘ |
I=IF(SUM(SW13:$Y13)=0,0,(VLOOKUP($G13,DLCRTChannelUnitCosts, 17, FALSE)*VLOO |=IF(SUM($W13:8Y13)=0,0 IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G13,DLCRTCha
KUP($D13,DLCVendorMix,2,FALSE)+VLOOKUP($G13,DLCRTChannelUnitCostsVendorB | nnelUnitCosts,17,FALSE),VLOOKUP($G 13, DLCRTChannelUnitCostsVendorB,17 FA

=IF(SUM(SW14:$Y14)=0,0,(VLOOKUP($G 14,DLCRTChannelUnitCosts, 17, FALSE)*VLOO :=lF(SUM($W14:$Y14)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G14,DLCRTCha
iKUP($D14,DLCVendorMix,Z,FALSE)+VLOOKUP($G14,DLCRTChanneIUnitCostsVendorB nnelUnitCosts,17,FALSE),VLOOKUP($G 14, DLCRTChannelUnitCostsVendorB,17 FA
17 FALSEPVLOOKUP($D 14,DLCVendorMix,3,FALSE))) ILSE)) '

73

74

R15

R16

|
=F(SUM(8W15:8Y15)=0,0,(VLOOKUP($G15,DLCRTChannelUnitCosts, 17, FALSE)*VLOO (‘ =IF(SUM($W15:8Y15)=0,0,IF(SUM($Z$2:$AB$23)<449, VLOOKUP($G15,DLCRTCha
KUP($D15,DLCVendorMix,2,FALSE)+VLOOKUP($G15,DLCRTChannelUnitCostsVendorB |nnelUnitCosts,17,FALSE),VLOOKUP($G15,DLCRTChannelUnitCostsVendorB,17 FA
1,17, FALSE)*VLOOKUP(§D15,DLCVendorMix,3,FALSE))) , LSE)))
B

=IF(SUM(SW16:8Y16)=0,0,IF(SUM($Z32:$AB$23)<449 VLOOKUP(SAC16,DLCRTCh
annelUnitCosts, 17, FALSE),VLOOKUP($AC16 DLCRTChannelUnitCostsVendorB,17,

,‘ =F(SUM(§W16:8Y 16)=0,0,(VLOOKUP($AC16,DLCRTChannelUnitCosts, 17,FALSE)*VLO

OKUP($D16,DLCVendorMix,2, FALSE)+VLOOKUP(SAC16,DLCRTChannellUnitCostsVend

lorB,17, FALSE)*YLOOKUP($D16,DLCVendorMix,3, FALSE))) FALSE)))
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75

76

77

b
- F._
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S SR - S S

R18

S - aertibo T S i

R19

|0rB,17,FALSE)*VLOOKUP($D17,DLCVendorMix,3,FALSE))) FALSE))

i

(=IF(SUM(SW17:$Y17)=0,0,(VLOOKUP($SAC17, DLCRTChannelUnitCosts, 17, FALSE)*VLO |=IF(SUM(SW17:8Y17)=0,0,IF(SUM($2$2:5AB$23)<449,VLOOKUP(SAC17 DLCRTCh
OKUP($D17,DLCVendorMix,2,FALSE)+VLOOKUP($AC17 DLCRTChanneiUnitCostsVend ianneIUnitCosts,17,FALSE),VLOOKUP(SAC17,DLCRTChanne!Ur\itCosts\/endorB,17,

|=IF(SUM{$W 18:8Y18)=0,0,(VLOCKUP(SAC18,DLCRTChannelUnitCosts, 17, FALSE)*VLO |=IF(SUM(SW18:8Y1 8)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP(SAC18,DLCRTCh

'OKUP($D18,DLCVendorMix,2,FALSE)+VLOOKUP($AC18,DLCRTChannelUnitCostsVend !Eanne|UnitCosts,17,FALSE)|VLOOKUP($AC1 8,DLCRTChannelUnitCostsVendorB,17,
|orB,17,FALSE)*VLOOKUP($D18,0LCVendorMix,3,FALSE))) |[FALSE)))

|=IF(SUM($W19:8Y19)=0,0,(VLOOKUP($AC19,DLCRTChannelUnitCosts, 17,FALSE)"VLO f=IF(SUM($W19:$Y19)=0,0,lF(SUM($Z$2:$AB$23)<449,VLOOKUP($AC19,DLCRTCh
' OKUP($D19,DLCVendorMix,2,FALSE)+VLOOKUP(SAC19,DLCRTChannelUnitCostsVend annelUnitCosts,17,FALSE),VLOOKUP(3AC19,DLCRTChannelUnitCostsVendorB,17,
}orB,17,FALSE)*VLOOKUP($D19,DLCVendorMix,S,FALSE))) FALSE)))

T T o i -

78

79

R20

S i i i __.‘T_.__—‘_ —_— ’

\
( R21

80

( R22

B 17 FALSE)*VLOOKUP($D21,DLCVendorMix,3,FALSE))) LSE)) B

=IF(SUM($W20:$Y20)=0,0,(VLOOKUP($G20,DLCRTChannelUnitCosts, 17, FALSE)*VLOO [=IF(SUM($W20:$Y20)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP(SGZO,DLCRTCha
KUP($D20,DLCVendorMix, 2, FALSE)+VLOOKUP($G20,DLCRTChannelUnitCostsVendorB |nnelUnitCosts,17,FALSE),VLOOKUP($G20,DLCRTChannelUnitCostsVendorB, 17 FA
1,17, FALSE)*VLOOKUP($D20,DLCVendorMix,3,FALSE))) ILSE))

=IF(SUM(SW21:$Y21)=0,0,(VLOOKUP($G21,DLCRTChannelUnitCosts,17,FALSE)*VLOO =IF(SUM(SW21:$Y21)=0,0,IF(SUM($Z$2:5AB$23)<449,VLOOKUP($G21,DLCRTCha
!KUP($D21 ,DLCVendorMix,2,FALSE)+VLOOKUP($G21,DLCRTChannelUnitCostsVendorB nnelUnitCosts,17,FALSE),VLOOKUP($G21,DLCRTChannelUnitCostsVendorB, 1 7.FA

‘=IF(SUM($W22:$Y22)=0,0,(VLOOKUP($(322,DLCRTChanneIUnitCosts,17,FALSE)*VLOO I=IF(SUM($W22:$Y22)=0,0,IF(SUM($2$2:3AB$23)<449,VLOOKUP($G22,DLCRTCha
'KUP($D22,DLCVendorMix,2, FALSE)+VLOOKUP($G22,DLCRTChannelUnitCostsVendorB (nnelUnitCosts, 17,FALSE),VLOOKUP($G22,DLCRTChannelUnitCostsVendorB,17,FA

81

R23

|17 FALSE)*VLOOKUP($D22,DLCVendorMix,3, FALSE))) #SE)))

=IF(SUM($W23:$Y23)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G23,DLCRTCha
nnelUnitCosts, 17, FALSE),VLOOKUP($G23,DLCRTChannelUnitCostsVendorB,17 FA
LSE))

,\=lF(SUM($W23:$Y23)=0,0,(VLOOKUP($G23,DLCRTChannelUnitCosts,17,FALSE)*VLOO
|KUP($D23,DLCVendorMix,2, FALSE)+VLOOKUP($G23,DLCRTChannelUnitCostsVendorB
1,17, FALSE)*VLOOKUP($D23,DLCVendorMix, 3, FALSE))) -

|
|

82

R24

’=DSUM(DLCRTCOmmonCosts,17,$A37:$B38)*VLOOKUP($D23,DLCVendorMix,Z,FALSE)J___'F(SUM($Z$2‘_$AB$23)<449 DSUM(DLCRTCommonCosts, 17,$A37:3838),DSUM(D

/3,FALSE)

83

|+DSUM(DLCRTCommonCostsVendorB,17,$A37:$B38)*VLOOKUP($D23,DLCVendorMix, JLCRTCommOnCOStSVGndoer17’$A37:3838)) #
\ : —
|

|

! \
=DSUM(DLCRTCommonCosts,17,$D$37:$E$38)*VLOOKUP($D23,0LCVendorMix,2,FAL ; :

\ ] 2 =IF(SUM($Z52:5AB$23)<449,DSUM(DLCRTCommonCosts,17,80$37:$E838),DSUM(|
SE)+DSUM(DLCRTCommonCostsVendorB,17,$D$37:$E$38)*VLOOKUP($D23,DLCVend ‘DLCRTCommonCostsVendorB,17,$D$37:$E$38))

84

85

(orMx3FALSE)

orMix,3,FALSE) ,

'=DSUM(DLCRTCommonCosts, 17,§D841:8ES42)"VLOOKUP($D23,DLCVendorMix 2,FAL | _ . ‘
‘SE)+DSUM(DLCRTCommonCosisVendorB, 17.5D841:SES42)'VLOOKUP(SD23,DLCVend | FSBZ8Z8AB828) <t et o anEiets. TR ADRH P2 ORCN
| 17,8D841:

T

‘=DSUM(DLCRTComm0nCOSts 17,$D$45:$E846)*VLOOKUP($D23,DLCVendorMix,2,FAL ;
ol : ) . ’ e |=IF(SUM($Z2$2:$AB$23)<449,DSUM(DLCRTCommonCosts,17,$D$45:$E$46), DSUM(
'SE)+DSUM(DLCRTCommonCostsVendorB,17,$D$45:$E$46)*VLOOKUP($D23,DLCVend xDLCRTCommonCostsVendorB,17,$D$45:$E$46))

86

R28

JorMix,3,FALSE) |

DSUM(DLCRTCommonCosts,17,$G$37:$H$38)*VLOOKUP($D23,DLCVendorMix,2 FAL | _ . :
E)+DSUM(DLCRTCommonCostsVendorB, 17,§G$37:5H§38)*VLOOKUP(SD23, DLCVend Tlif(fi{M($Z$2.$AB$23)<449,DSUM(DLCRTCommonCostS,17,$G$37.$H$38),DSUM

|
;:
|SE)+DSUM(DLCRTCommonCostsVendorB,17,$G837:3H$38 - .
LorMix 3 F ALSE) {DLCRTCommonCostsVendorB,17,$G$37:$H$38))
| 19,
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=DSUM(DLCRTCommonCosts,17,$J$37:3K$38)*VLOOKUP($D23,DLCVendorMix,2,FALS |

1 R29 et il - i =|F(SUM($Z$2:3AB$23)<449,DSUM(DLCRTCommonCosts,17,$J$37:$K$38), DSUM(
o 1 '\E}I)i:leFLi\l\IA(SDEL\CRTCommonCostsVendorB,17,$J$37.$K$38) VLOOKUP($D23,DLCVendor DLCRTCommonCostsVendorB, 17,8J$37-$K$38))
| v 1, { S ]
=00 O . . ) |
‘ o |=IF(SUM(SW2:$Y2)=0,0,(VLOOKUP($G2,DLCRTChannelUnitCosts, 18, FALSE)*VLOOKU |=IF(SUM($W2:8Y2)=0,0,IF(SUM($Z$2:5AB$23)<449,VLOOKUP($G2 DLCRTChannel
\P($D2,DLCVendorMix, 2 FALSE)+VLOOKUP($G2 DLCRTChannelUnitCostsVendorB,18,F |UnitCosts,18,FALSE),VLOOKUP($G2,DLCRTChanneiUnitCostsVendorB,18,FALSE))
88 B ALSE)*VLOOKUP($D2,DLCVendorMix,3,FALSE))) ) B
| s3 =IF(SUM(SW3:$Y3)=0,0,(VLOOKUP($G3,DLCRTChannelUnitCosts, 18, FALSE)*VLOOKU |=IF(SUM($W3:8Y3)=0,0,IF(SUM($2$2:$AB$23)<449,VLOOKUP($G3,DLCRTChannel
i P($D3,DLCVendorMix,2, FALSE)+VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,18,F | UnitCosts,18,FALSE),VLOOKUP($G3,DLCRTChannelUnitCostsVendorB,18,FALSE))
89 ; ALSE)*VLOOKUP($D3 DLCVendorMix,3,FALSE))) 1)
S4 =IF(SUM($W4:$Y4)=0,0,(VLOOKUP($G4,DLCRTChannelUnitCosts, 18, FALSE)*VLOOKU |=IF(SUM($W4:3Y4)=0,0,IF(SUM($2$2:5AB$23)<449 VLOOKUP($G4,DLCRTChannel
{P($D4,DLCVendorMix,2, FALSE)+VLOOKUP($G4,DLCRTChannelUnitCostsVendorB,18,F |UnitCosts,18,FALSE),VLOOKUP($G4,DLCRTChannelUnitCostsVendorB, 18 ,FALSE))
90 jALSE)*VLOOKUP($D4 DLCVendorMix,3,FALSE))) ) ]
| |
S5 1=IF(SUM($W5:$Y5)=0,0,(VLOOKUP($GS,DLCRTChannelUnitCosts.18,FALSE)*VLOOKU =IF(SUM(SW5:8Y5)=0,0,IF(SUM($2$2:$AB$23)<449,VLOOKUP($G5,DLCRTChannel
|P($D5,DLCVendorMix,2, FALSE)+VLOOKUP($G5,DLCRTChannelUnitCostsVendorB,18,F |UnitCosts,18,FALSE),VLOOKUP($G5,DLCRTChannelUnitCostsVendorB,18,FALSE))
91 ALSE)*"VLOOKUP($D5,DLCVendorMix,3,FALSE))) )
S6 |=IF(SUM(SW6:8Y6)=0,0,(VLOOKUP($G6,DLCRTChannelUnitCosts, 18, FALSE)*VLOOKU =IF(SUM(SW6:$Y6)=0,0,IF(SUM($2$2:$AB$23)<449,VLOOKUP($G6,DLCRTChannel
IP($D6,DLCVendorMix,2, FALSE)+VLOOKUP($G6,DLCRTChannelUnitCostsVendorB, 18,F |UnitCosts,18,FALSE),VLOOKUP($G6,DLCRTChannelUnitCostsVendorB,18,FALSE))
92 ALSE)*VLOOKUP($D8,DLCVendorMix,3,FALSE))) )
=IF(SUM($W7:$Y7)=0,0,(VLOOKUP($G7,DLCRTChannelUnitCosts, 18, FALSE)*VLOOKU |=IF(SUM($W7:$Y7)=0,0,IF(SUM($2$2:$AB$23)<449 VLOOKUP($G7,DLCRTChannel
S7
| P($D7,DLCVendorMix,2,FALSE)+VLOOKUP($G7,DLCRT ChannelUnitCostsVendorB,18,F UnitCosts,18,FALSE),VLOOKUP($G7,DLCRTChannelUnitCostsVendorB,18,FALSE))
93 | {ALSE)*VLOOKUP($D7,DLCVendorMix,3,FALSE))) ;;
=IF(SUM($W8:$Y8)=0,0,(VLOOKUP($G8,DLCRTChannelUnitCosts,18,FALSE)*VLOOKU |=IF(SUM($W8:3Y8)=0,0,IF(SUM($2$2:3AB$23)<449 VLOOKUP($G8,DLCRTChannel
S8
P($D8,DLCVendorMix,2,FALSE)+VLOOKUP($G8,DLCRTChannelUnitCostsVendorB,18,F |UnitCosts,18,FALSE),VLOOKUP($G8,DLCRTChannelUnitCostsVendorB, 18,FALSE))
94 ALSE)*VLOOKUP($D8,DLCVendorMix,3,FALSE))) )
=|F(SUM($W9:$Y9)=0,0,(VLOOKUP($G9,DLCRTChannelUnitCosts, 18, FALSE)*VLOOKU | =IF(SUM($W9:3Y9)=0,0,IF(SUM($2$2:3AB$23)<449,VLOOKUP($G9,DLCRTChannel
S9
P($D9,DLCVendorMix,2,FALSE)+VLOOKUP($G9,DLCRTChannelUnitCostsVendorB,18,F ’UnitCosts,18,FALSE),VLOOKUP($GQ,DLCRTChanneiUnitCostsVendorB,18,FALSE))
95 |ALSE)*VLOOKUP($D9,DLCVendorMix,3,FALSE))) h] |
=IF(SUM($W10:$Y10)=0,0,(VLOOKUP($G10,DLCRTChannelUnitCosts,18,FALSE)*VLOO =IF(SUM(SW10:$Y10)=0,0,IF(SUM($Z$2:5AB$23)<449 VLOOKUP($G10,DLCRTCha
10
KUP($D10,DLCVendorMix,2,FALSE)+VLOOKUP($G10,DLCRTChannelUnitCostsVendorB | nnelUnitCosts, 18, FALSE),VLOOKUP($G10,DLCRTChannelUnitCostsVendorB,18,FA
96 ,18,FALSE)*VLOOKUP($D10,DLCVendorMix,3,FALSE))) LSE)))
S11 J:IF(SUM($W1 1:$Y11)=0,0,(VLOOKUP($G11,DLCRTChannelUnitCosts, 18, FALSE)*VLOO 3=IF(SUM($W1 1:$Y11)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G11,DLCRTCha
iKUP($D1 1,DLCVendorMix,2,FALSE)+VLOOKUP($G11,DLCRTChannelUnitCostsVendorB |nnelUnitCosts, 18, FALSE),VLOOKUP($G11,DLCRTChannelUnitCostsVendorB,18,FA
97 N i ,18,FALSE)*VLOOKUP($D1 1,DLCVendorMix,3,FALSE))) LSE)))
1‘ S12 =IF(SUM(SW12:$Y12)=0,0,(VLOOKUP($G12,DLCRTChannelUnitCosts, 18,FALSE)*VLOO | =IF(SUM($W12:$Y12)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G12,DLCRTCha
f {\KUD{$D12yDLC\/nnerM|y 2 FALSE)+VLOOKUP($G12 DLCRTChanneiUnitCostsVendorB InnelUnitCosts,18,FALSE),VLOOKUP($G12,DLCRTChannelUnitCostsVendorB, 18, FA
98 | |,18,FALSE *VLOOKUP($D12 DLCVendorMix,3,FALSE))) [LSE ))
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99

|=IF(SUM(SW13:8Y13)=0,0,(VLOOKUP($G 13, DLCRTChannelUnitCosts, 18, FALSE)"VLOO
'KUP($D13,DLCVendorMix,2, FALSE)+VLOOKUP($G13,DLCRTChannelUnitCostsVendorB
|, 18,FALSE)"VLOOKUP(8D13,DLCVendorMix,3,FALSE)))

=|F(SUM(SW13:$Y13)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G13,DLCRTCha
nnelUnitCosts,18,FALSE),VLOOKUP($G13,DLCRTChannelUnitCostsVendorB,18,FA
LSE))

100

514

i
;—ir\SbM($‘v’V14 $Y"|4)"O 0 (\v/LOCI/\UP(&;G14 LCRTChannelUnitCosts,18,FAL Q;\"\/I Q0
|KUP($D14,DLCVendorMix,2,FALSE)+VLOOKUP($G14,DLCRT! ChannelUthostsVendorB

J,18 FALSE)*VLOOKUP($D14,DLCVendorMix,3,FALSE)))

=IF(SUM(SW14:$Y1 4)=0,0,IF(SUM($Z2$2:3AB$23)<449,VLOOKUP($G14,DLCRTCha
nnelUnitCosts,18,FALSE),VLOOKUP($G14,DLCRTChannelUnitCostsVendorB,18,FA
LSE)))

101

. s15

T
\
|=IF(SUM($W15:8Y15)=0,0,(VLOOKUP($G15,DLCRTChannelUnitCosts, 18, FALSE)*VLOO
'KUP($D15,DLCVendorMix,2,FALSE)+VLOOKUP($G15,DLCRTChannelUnitCostsVendorB

=IF(SUM(SW15:$Y15)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G15 DLCRTCha
nnelUnitCosts,18,FALSE),VLOOKUP($G15,DLCRTChannelUnitCostsVendorB,18,FA
LSE))

102

516

\,18 FALSE)*VLOOKUP($D15,DLCVendorMix,3,FALSE)))

VLOOKUP($AC16,DLCRTChannelUnitCosts,18,FALSE)*VLO
= LS:\.LV\ 00K |DN:AP1R DLCRTChannelUnitCostsVend

f LOOKUE Costs
1

A
6,DLCVendorMix, 3, FALSE)))

)

=IF(SUM(SW16:$Y16)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($AC16,DLCRTCh
annelUnitCosts,18,FALSE),VLOOKUP($AC16,DLCRTChannelUnitCostsVendorB, 18,
FALSE)))

103

S17

=IF(SUM(SW17:8Y17)=0,0,(VLOOKUP($AC17 DLCRTChannelUnitCosts, 18,FALSE)*VLO
|OKUP($D17,DLCVendorMix,2, FALSE)+VLOOKUP($AC17, DLCRTChannelUnitCostsVend
JorB,18,FALSE)*VLOOKUP($D17,DLCVendorMix,3,FALSE)))

=IF(SUM(SW17:$Y17)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP(SAC17,DLCRTCh
annelUnitCosts,18,FALSE),VLOOKUP($AC17 ,DLCRTChannelUnitCostsVendorB, 18,
'FALSE)))

104

105

518

S19

T

=IF(SUM($W18:3Y18)=0,0,(VLOOKUP($AC18,DLCRTChannelUnitCosts, 18, FALSE)*VLO
'OKUP($D18,DLCVendorMix,2, FALSE)+VLOOKUP(SAC18,DLCRTChannelUnitCostsVend
|orB,18,FALSE)*"VLOOKUP(3D18,DLCVendorMix,3,FALSE)))

| =IF(SUM($W18:$Y18)=0,0,lF(SUM($Z$2:$AB$23)<449,VLOOKUP($AC1 8,DLCRTCh
‘annelUnitCosts,18,FALSE),VLOOKUP($AC18,DLCRTChannelUnitCostsVendorB,18,
FALSE)))

=IF(SUM(SW19:8Y19)=0,0,(VLOOKUP($AC19,DLCRTChannelUnitCosts, 18, FALSE)*VLO
OKUP($D18,DLCVendorMix,2, FALSE)+VLOOKUP($AC19,DLCRTChannelUnitCostsVend
orB,18,FALSE)*VLOOKUP($D19,DLCVendorMix,3,FALSE)))

|=IF(SUM(SW19:$Y1 9)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($AC19,DLCRTCh
annelUnitCosts,18,FALSE),VLOOKUP($AC19,DLCRTChannelUnitCostsVendorB, 18,
FALSE)))

106

S20

=IF(SUM($W20:$Y20)=0,0,(VLOOKUP($G20,DLCRTChannelUnitCosts,18,FALSE)*VLOO
KUP($D20,DLCVendorMix,2,FALSE)+VLOOKUP($G20,DLCRTChannelUnitCostsVendorB
,18,FALSE)*VLOOKUP($D20,DLCVendorMix,3,FALSE)))

=IF(SUM(SW20:$Y20)=0,0,IF(SUM($Z$2:3AB$23)<449,VLOOKUP($G20,DLCRTCha
nnelUnitCosts,18,FALSE),VLOOKUP($G20,DLCRTChannelUnitCostsVendorB,18,FA
LSE)))

108

S21

§=IF(SUM($W21 :$Y21)=0,0,(VLOOKUP($G21,DLCRTChannelUnitCosts,18,FALSE)*VLOO
KUP($D21,DLCVendorMix,2,FALSE)+VLOOKUP($G21,DLCRTChannelUnitCostsVendorB
18, FALSE)*VLOOKUP($D21,DLCVendorMix,3,FALSE)))

=IF(SUM($W21:8Y21)=0,0,IF(SUM($Z52:$AB$23)<449,VLOOKUP($G21,DLCRTCha
nnelUnitCosts, 18,FALSE),VLOOKUP($G21,DLCRTChannelUnitCostsVendorB, 18,FA
LSE)))

822

g=1F(SUM($W22:$Y22)=0,0,(VLOOKUP($622,DLCRTChanneIUnitCosts,1 8,FALSE)*VLOO
'KUP($D22,DLCVendorMix,2,FALSE)+VLOOKUP($G22,DLCRTChannelUnitCostsVendorB
,18,FALSE)*VLOOKUP($D22,DLCVendorMix,3,FALSE)))

=IF(SUM($W22:$Y22)=0,0,IF(SUM($Z$2:$AB$23)<449,VLOOKUP($G22,DLCRTCha
nnelUnitCosts,18,FALSE),VLOOKUP($G22,DLCRTChannelUnitCostsVendorB,18,FA
LSE)))

109

$23

=IF(SUM($W23:$Y23)=0,0,(VLOOKUP($G23,DLCRTChannelUnitCosts, 18,FALSE)*VLOO
KUP($D23,DLCVendorMix,2,FALSE)+VLOOKUP($G23,DLCRTChannelUnitCostsVendorB
J ,18,FALSE)*VLOOKUP($D23,DLCVendorMix,3,FALSE)))

110

824

=IF(SUM(SW23:8Y23)=0,0,IF(SUM($Z$2:3AB$23)<449 VLOOKUP($G23,DLCRTCha
nnelUnitCosts, 18,FALSE),VLOOKUP($G23,DLCRTChannelUnitCostsVendorB,18,FA
LSE)))

~ Al

‘*'UbUIVl(ULL;r(!bUI‘I mon
|3,FALSE)

" |LCRTCommonCostsVendorB,18,$A37:$B38))

=IF(SUM($Z$2:$AB$23)<449,DSUM(DLCRTCommonCosts,18,$A37:$B38),DSUM(D
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. |
~DSUM(DLCRTCommonCosts, 18,5D$37:SE$38)"VLOOKUP($D23,DLCVendorMix,2,FAL | _ _ . ,
i i : N
$25  5E)4DSUM(DLCRTCommonCostsVendorB, 18,8D$37:$E$38)"VLOOKUP($D23,DLCVend ‘D'fé%fr“éfﬂfﬁgéﬁé%ﬁ;ﬁ;g?ggé%;gzéggg;”°”C°S‘s’18*$D$37 SES35] DSUM
111 B - lQ(Mix,S,FALSE) ) - | Eha ’ ]
—DSUM(DLCRTCommonCosts, 18,$D$41:5E642)*VLOOKUP($D23,DLCVendorMix,2,FAL T ——
S26 =|F(SUM($252:3AB$23)<449,DSUM(DLCRTCommor 1Costs,18,5D$41:3E$42), DSUM(
SE)+DSUM(DLCRTCommonCosts\VendorB, 18, §D$41:5E$42)"VLOOKUP($D23,DLCVend :
112 orMix,3,FALSE) DLCRTCommonCostsVendorB,18,$D$41:3E$42)) B
=DSUM(DLCRTCommonCosts,18,$D$45:5E546)*VLOOKUP($D23,DLCVendorMix,2,FAL _
¥ ’ : = ; SES4
52 SE)+DSUM(DLCRTCommonCostsVendor, 18, §D$45:$E$46)*VLOOKUP($D23, DLCVend D'I_FéSRL%"éféf}}%ﬁégsﬁ?)‘:ﬁz&fggé%igggﬁg;;’oncos{s'18'$D$45 GEB6)DELM,
113 orMix,3,FALSE) T '
—DSUM(DLCRTCommonCosts, 18,$G$37:$H$38)VLOOKUP(§D23,DLCVendorMix 2. FAL | _ o j11e7e0.68523)<449, DSUMDLCRTC . .
$28  S£)+DSUM(DLCRTCommonCostsVendorB, 18,$G$37:$HS38)*VLOOKUP($D23,DLCVend &‘gg%ifr;f&iﬁﬁ(,‘e}ﬁ’r‘gﬁg';(:::;:‘;‘Tfﬂf?on“‘OStS’18'$C$37'$H$38)’DSUM
114 orMix,3,FALSE) GRS HTRAB,) |
=DSUM(DLCRTCommonCosts, 18,5J$37:5K$38)*VLOOKUP($D23,DLCVendorMix 2, FALS ,
\ - .
$29 £} DSUM(DLCRTCommonCostsVendorB, 18, $J$37:5K$38)*VLOOKUP($D23,DLCVendor D'fc(:SRL%"éféf%fégj;f};:ﬁg?ggjg;f;{;g;g;‘)moncom'18‘$J$37'$K$38)’DSUM(
115 Mix,3,FALSE) 18,3837
? I N
3-DLC-COT P2 ;=lF($F2=°:o'(VLOOKUP($G2'DLCCOTCha””e'U““COStS'15’EALSE)*VLOOKUP($D2'DL* |=IF($F2=0,0,IF(SUM(SADS2:SAF$18)<449 VLOOKUP($G2, DLCCOTChannelUnitCost
‘CVendorM|x,2,FALSE)+(VLOOKUP($G2,DLCCOTChanne|UnltCostsVendorB,15,FALSE) s 15 FALSE),(VLOOKUP(3G2 DLCCOTChannelUnitCostsVendorB, 15,FALSE))))
116 VLOOKUP($D2,DLCVendorMix,3,FALSE)))) 3 ' * 15,
i: = i %
b3 =IF(8F3=0,0,(VLOOKUP(8G3,DLOCOTChannelUnitCosts, 15,FALSE)'VLOOKUPSDS DL |k (sk3=0,0,IF(SUM(SADS2:5AF$18)<449, VLOOKUP(§G3,DLCCOTChannelUnitCost
CVendoerx,2,FALSE)+(VLOOKUP($G3,DLCCOTChanneIUthostsVendorB,15,FALSE) 5.15 FALSE), (VLOOKUP(SG3 DLCCOTChannelUnitCostsVendorB, 15,FALSE))))
117 ~ VLOOKUP(SD3,DLCVendorMix,3,FALSE)))) B (3G3, P B
by =IF(SF4=00,(VLOOKUP(SG4,DLCCOTChannelUnitCosts, 15,FALSE)'VLOOKUP(SDA DL | _ir(5F4=0,0,IF(SUM(SADS2:SAF$18)<449, VLOOKUP(8G4, DLGCOTChannelUnitCost
}CVendoerx,Z,FALSE)+(VLOOKUP($G4,DLCCOTChannelUthostsVendorB,15,FALSE) ‘.15 FALSE) (VLOOKUP($G4 DLCCOTChannelUnitCostsVendorB, 15,FALSE))))
118 'VLOOKUP($D4,DLCVendorMix,3,FALSE))) 19 ' : AR
‘ i
PS5 =IF(SF5=0,0,(/LOOKUP(SGS,DLOCOTCrannelUnitCosts, 15, FALSE)VLOOKUP(SDS.OL | _ic se0  F(SUMSADS2:SAFS18)<448,VLOOKUP(SGS,DLCCOTChamelUnitCost
CVendorMix 2,FALSE)+(VLOOKUP(SGS,DLCCOTChannelUnitCostsVendorB, 15,FALSE)" | 2 e 001 Up(§G5,DLCCOTChannelUnitCostsVendorB, 15, FALSE))
119 'VLOOKUP($D5,DLCVendorMix,3,FALSE)))) % ' ’ 15
| | R
: 1
= =i i B |
bg  =IF(8F6=0,0,(VLOOKUP(8GG,DLCCOTChannelunitCosts, 15,FALSE)'VLOOKUP(SDE.DL | (re=0,0,IF(SUM(SADS2:8AF$18) <449, VLOOKUR(SGE, DLCCOTChannelUnitCost
CVendoerx,Z,FALSE)+(VLOOKUP($GG,DLCCOTChanneIUthostsVendorB,15,FALSE) 5.15.FALSE),(VLOOKUP($G6 DLCCOTChannelUnitCostsVendorB, 15,FALSE))))
120 'VLOOKUP($D6,DLCVendorMix,3,FALSE)) A3, ' ’ A :
p7 =IF(8F7=0,0,(VLOOKUP($G7 DLCCOTChannelUnitCosts, 15, FALSE)"VLOOKUP(SDT. DL | i gr7=0 0, IF(SUM(SADS2:$AF$18)<449 VLOOKUP($G7,DLCCOTChannelUnitCost
:CVendoerx,Z,FALSE)+(VLOOKUP($G7,DLCCOTChanneIUthostsVendorB,15,FALSE) s.15.FALSE) (VLOOKUP(SG7 DLCCOTChannelUnitCostsVendorB, 15,FALSE))))
121 'VLOOKUP($D7,DLCVendorMix,3,FALSE)) i ' ' 15
i
| ‘: . = i *
pg ZIFSFB 0.0,(VLOOKUP($G8 DLCCOTChannelUnitCosts, 15,FALSE)'VLOOKUP(SDB DL . (s g=0,0,IF (SUM(SADS2:$AF$18)<449,VLOOKUP($G8 DLCCOTChannelUnitCost
CVendorMix,2,FALSE)+(VLOOKUP($G8,DLCCOTChannelUnitLosts Venaors, 19,1 ALSE) s.15,FALSE),(VLOOKUP($G8 DLCCOTChannelUnitCosts\VendorB, 15,FALSER))
122 VLOOKUP($D8,DLCVendorMix,3,FALSE)))) 1 : i T Ul
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=[F($F9=0,0,(VLOOKUP($AGY,DLCCOTChannelUnitCosts,15,FALSE)"VLOOKU P($D9,D

P9 i : . =IF($F9=0,0xlF(SUM($AD$2:SAF$18)<449,VLOOKUP($AG9,DLCCOTChanneIUni’(Co
G ,(V_LQ?K‘L‘JS(%GE'DLCCOTCha””e'U””C"Stsve”dorB'15'FALS sts, 15 FALSE),(VLOOKUP($AGY,DLCCOTChannelUnitCostsVendorB, 15, FALSE))))
123 H:) VLOUI’\LJP(@D:;! DLCVendorMix,3,FALSE))))
. =IF(SF10=0,0,(VLOOKUP($AG10,DLCCOTChannelUnitCosts, 15 FALSE)*VLOOKUP($D1 |=IF($F10=0,0, IF(SUM(SADS2:5AF$18)<449,VLOOKUP( $AG10,DLCCOTChannelUnit
0,DLCVendorMix,2,FALSE)+(VLOOKUP($AG10,DLCCOT ChanneIUnltCostsVendorB 15.F |Costs,15,FALSE),(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,15 ,FALSE)
124 ‘ALSE)*VLOOKUP($D10,DLCVendoerx,S,FALSE)))) ) |
p1y =IF(8F11=0,0(VLOOKUP(SG11,DLCCOTChannelUnitCosts, 15, FALSE)'VLOOKUP(SD11, | g4 1=0,0,IF(SUM(SADS2:3AF$18)<449,VLOOKUP(SG11,DLCCOTChannelUnitC
DLCVendoerx,Z,FALSE)+(VLOOKUP($G11,DLCCOTChannelUthostsVendorB,15,FALS osts 15, FALSE),(VLOOKUP($G11,DLCCOTChannelUnitCostsVendorB, 15 FALSE)))
125 E)*VLOOKUP($D11,DLCVendorMix,3,FALSE)))) | T ’ ’ Y
=|F($F12=0,0,( JP($G12,DL | t: LSE)*V P(S$D1 )
P12 ol Cerdoriin2r ALS=)*<‘V'L00K8§ggga£f§ggﬁgii:r:jn i Rty 1r(a$EA12 A e L i e i W e T e
126 E)*VLOOKUP($D12,DLCVendorMix,3,FALSE)))) osts,15,FALSE),(VLOOKUP($G12,DLCCOTChannelUnitCostsVendort,19,rALSE))))
| =IF($F13=0,0,(SUMIF($AF$43:$AF$66,"Plug- =IF($F13=0,0,(|F(SUM($AD$2:$AF$18)<449,SUM!F($AF$43:$AF$66,"PIUQ-
P13 inintegrated", A0$43:A0$66)*VLOOKUP($D1 3,DLCVendorMix,2,FALSE)+SUMIF($AF$74: inIntegrated",AO$43:AO$66),SUMIF($AF$74:$AF$97."P|ug-
$AF$97,"Ptug-inlntegrated",AO$74:AO$97)*VLOOKUP($D13,DLCVendorMix,3,FALSE)) inintegrated"” A0$74:A0$97)))
127 J((FW2+$X2+8Y2+$22+3AB2+SAC2)/(SAD2+$AF2)))*SU2 /(($W2+$X2+$Y2+$Z2+$A82+$ACZ)/($AD2+$AF2)))*$U2
=|F($F14=0,0,(SUMIF($AF$43:$AF$66,"Plug- =lF($F14=0,0,(lF(SUM($AD$2:$AF$18)<449,SUMIF($AF$43:$AF$66,"PIUQ-
P14 inlntegrated",AO$43:AO$66)*VLOOKUP($D14,DLCVendorMix,Z,FALSE)+SUMIF($AF$74: inIntegrated",AO$43:AO$66),SUM!F($AF$74:$AF$97,"P!U9‘
$AF$97,"Plug-inintegrated"” AO$74:A0$97)*VLOOKUP($D14,DLCVendorMix,3,FALSE)) inintegrated”, AO$74:A0$97)))
128 /(($W3+$X3+$Y3+$23+$AB3+$AC3)/($AD3+$AF3)))*$U3 /(($W3+$X3+$Y3+$Z3+$AB3+$AC3)/($AD3+$AF3)))*$U3
=|F($F15=0,0,(SUMIF($AF$43:$AF$66,"Plug- =lF($F15=0,0,(lF(SUM($AD$2:$AF$18)<449,SUMIF($AFS43:$AF$66,”PIUQ-
P15 inIntegrated",AO$43:AO$66)*VLOOKUP($D15,DLCVendorMiX,2,FALSE)+SUMIF($AF$74: inIntegrated“,AO$43:AO$66),SUMIF($AF$74:$AF$97,"PIU9‘
$AF$97,"PIug-in1ntegrated",AO$74:AO$97)"VLOOKUP($D15,DLCVendorMix,3,FALSE)) inintegrated", A0$74:A0$97)))
129 ) J((SW4+$X4+5Y4+$Z4+FAB4+SACA)/(BAD4+SAF4)))*SU4 /((SW4+$X4+$Y4+$Z4+$AB4+$AC4)/($AD4+$AF4)))*$U4
=IF($F16=0,0,(SUMIF($SAF$43:$AF$66,"Plug- | =IF($F16=0,0,(IF(SUM($AD$2:$AF$18)<449,SUM!F($AF$43:$AF$66,"PIUQ-
P16 inintegrated", A0$43:A0$66)*VLOOKUP($D1 6,DLCVendorMix,2,FALSE)+SUMIF(3AF$74: in!ntegrated",AO$43:AO$66),SUMIF($AF$74:$AF$97,"PIUQ—
‘ $AF$97,"Plug-inIntegrated",AO$74:AO$97)*VLOOKUP($D16,DLCVendorMix,3,FALSE)) inintegrated",A0$74:A08$97)))
130 1 J(SW5+$X5+8Y5+$Z5+SAB5+SACS)/(SAD5+SAF5)))*SUS f/(($W5+$X5+$Y5+$ZS+$AB5+$AC5)/($AD5+$AF5)))*$U5 |
% i =|F($F17=0,0,(SUMIF($AF$43:5AF$66,"Plug- =1F($F17=0,0,(1F(SUM($AD$21$AF$18)<449,SUMIF($AF$43:$AF$66,"PIUQ-
| P17 :mlntegrated' A0$43:A0$66)*VLOOKUP($D17,DLCVendorMix, 2, FALSE)+SUMIF($AF$74: lnIntegrated",AO$43:AO$66),SUMIF($AF$74:$AF$97,“PIug—
‘ |$AF$97 "Plug-inintegrated”, AO$74:A0$97)*VLOOKUP($D17, DLCVendorMix,3,FALSE)) inintegrated" A0$74:A0$97)))
131 (SWE+3X6+5Y6+326+$AB6+SACE)/ (SAD6+3AF6)))*$UB f/(($W6+$X6+$Y6+$26+$AB6+$ACG)/($ADG+$AF6)))*$U6 ]
. pyg |=IF(SF18=0,0(VLOOKUP($G18,DLCCOTChannelUnitCosts 15,FALSE)"VLOOKUP(SDIS, | gr1g-0 0 IF(SUM(SADS2:$AF$18)<449, VLOOKUP($G18,DLCCOTChannelUnitC
DLCVendorMix,2,FALSE)+(VLOOKUP($G18,DLCCOTChannelUnitCostsVendorB, 15,FALS s 15 FALSE),(VLOOKUP($G18,DLCCOTChannelUnitCostsVendor8, 15, FALSE))))
132 E)*VLOOKUP($D18,DLCVendorMix,3,FALSE)))) S ) ’ L
‘ P19 E)'fés\’/ﬁg'O'OJ(VLOOKUP($G19’DLCCOTCha””e'U"'tCOS‘tS’15'FALSE) VLOOKUP(SD19, || ¢r19-0 0, IF(SUM(SADS2:SAF$18)<449,VLOOKUP($G19,DLCCOTChannelUnitC
3 endorMix,2,FALSE)+(VLOOKUP($G19,DLCCOTChannelUnitCostsVendorB,15,FALS osts.15,FALSE),(VLOOKUP($G19 DLCCOTChannelUnitCostsVendorB, 15, FALSE))))
133 | E)*VLOOKUP($D19,DLCVendorMix,3,FALSE)))) A ! ! L
{ _
| % *
134 w SE) VLO OKUP($D20 DLCVendorMix,3 FALSE))) osts.15,FALSE) (VLOOKUP(&AL:B ULL,L;UIbhannelunIIbOSIsvenGOrb 15,FALSE))))
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! =|F($F21=0,0,(VLOOKUP($AG10,DLCCOTChannelUnitCosts,15,FALSE)*VLOOKUP($D2 =IF($F21=0,0,IF(SUM(SAD$2:3AF$18)<449,VLOOKUP($AG10,DLCCOTChannelUnit
P21 ; el
) 1,DLCVendorMix,2,FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,15,F |Costs,15,FALSE),(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,15,FALSE)
135 ALSE)*VLOOKUP($D21,DLCVendorMix,3,FALSE)))) M)
boy  FIF(8F2250,0,(VLOOKUP(SG22,DLCCOTChannelUnitCosts, 16, FALSE) VLOOKUP(SD22, | e 1 1 s M(SADS2:SAFS18)<449.VLOOKUP(§G22,DLOCOTChanneiUnitC
DLCVendorMix,Z,FALSE)+(VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB,15,FALSF Moo ] ! . ’
136 E)"VLOOKUP($D22,DLCVendorMix, 3, FALSE)))) 3osts,15,FALSE),(VLOOKUP($G22,DLCCOTChannelUthostsVendorB,1&‘y,FALSE))))
=|F($F23=0,0,(SUMIF(SAF$43:$AF$66,"Plug- ‘ =lF($F23=0,0,(|F(SUM($AD$2Z$AF$18)<449,SUM|F($AF$43:$AF$66,"PIUQ-
P23 inintegrated" AO$43:A0$66)*"VLOOKUP($D23,DLCVendorMix,2, FALSE)+SUMIF($AF$74: inintegrated’,AO$43:A0$66), SUMIF(SAF$74:3AF$97 "Plug-
$AF$97 "Plug-inintegrated” AO$74:A0$97)*VLOOKUP($D23,DLCVendorMix,3,FALSE))  |inintegrated" AO$74:A0$97)))
137 B /((SW12+85X12+8Y12+$Z212+5AB12+$AC12)/(SAD12+8AF 12)))*5U12 J(SW12+8X12+$Y12+$212+$AB12+SAC12)/(SAD12+$AF12)))*SU12
=IF($F24=0,0, SUMIF($AF$43:3AF$66,"HardwiredALL",A0$43:A0$66)*"VLOOKUP($Y21,D W ; "
504 | a =|IF($F24=0.0 IF(SUM(SADS$2:3AF$18) 9 SUMIF($AF$43:3AF$66,"HardwiredALL
N LGVendorMix,2,FALSE)+SUMIF (SAF$74:$AF$97,"HardwiredALL" AO$74:A0897)'VLOOK , (o 40,0 ,_,,,\_?,’Mr$ﬂmthf‘t‘f,;_d_ diene An$~“.%§\$n':,{?\r\dW|mdALL :
138 B iUP($Y21,DLCVendorMix.B,FALSE)) D43.AUDP00), OUMIF (AT P/ 4 9Ar9I [, MATUGWITEUALL \AUSIF.AUPTT)))
pos =!F($F25=0,-O,SUMIF($AF$43:$AF$66,"C_ommonA"LL",AO$43:A(“)$66)*VLOOKUP*($Y21,D =|F($F25=0,0,IF(SUM(SADS2:5AF$18)<449,SUMIF($AF$43:3AF$66,"CommonALL",
LCVendorMix,2,FALSE)+SUMIF($SAF$74:$AF$97,"CommonALL" A0$74:A0$97)*VLOOK AO$43:A0$66), SUMIF(SAF$74:5AF$97,"CommonALL" AO$74:A0$97)))
139 UP($Y21,DLCVendorMix,3,FALSE)) ! ' ' ) ' ’ '
pos  -IF(8F26=0,0,SUMIF(SAFS43:SAFSEE, CommonADSL! AOSAS:AOSEE) VLOOKUPISY21, | grag=0 0, IF(SUM(SADS2: $AFS18)<449, SUMIF(SAF$43:8AFS66,"CommonADSL"
DLCVendorMix,2,FALSE)+SUMIF($AF$74:3AF$97,"CommonADSL",A0$74:A0$97)*VLO AO$43:A0$66) SUMIF(SAF$74:SAF$97,"CommonADSL", A0$74:A0897)))
140 IOKUP($Y21,DLCVendorMix,3,FALSE)) ! ’ ’ ’ ’ ’ ’
po7  SIF(SF27=0,0,SUMIF(SAF$43:5AF$66,"CommonHDSL",AO$43:A0866)"VLOOKUP(SY21, | | ero7- o IF(SUM(SADS2:SAF$18)<449, SUMIF (SAF$43:8AF$66,"CommonHDSL"
DLCVendorMix,2,FALSE)+SUMIF(SAF$74:3AF$97,"CommonHDSL", A0$74:A0$97)*VLO AO$43:A0866), SUMIF(SAFS74:SAF$97,"CommonHDSL" AO$74:A0897)))
141 OKUP($Y21,DLCVendorMix,3,FALSE)) I’ . ' ' g ’ ’
pog |CIF(8F28=00,SUMIF(SAFS43:SAFSGS, HardwiredUniversal”, AOS43:A0S66) VLOOKUP(S |_ e qra-0 o IF(SUM(SADS2:SAF$18)<449, SUMIF(SAF$43:5AF$66,"HardwiredUnive
Y21,DLCVendorMix,2,FALSE)+SUMIF($AF$74:3AF$97,"HardwiredUniversal",AO$74:A0$ rsal” AO$43:A0$66), SUMIF(SAFS74:SAF$97,"HardwiredUniversal”, AOS74:A0$97))
142 97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) t ' ’ ’ ! ' '
— =|F(SF29=0,0,SQMIF($AF$43:$AF$66,'CommonUnive'r‘sal ,AO$43:AO$66")*VLOOKUP($Y =|F($F29=0,0,IF(SUM(SAD$2:5AF$18)<449,SUMIF ($AF$43:5AF$66,"CommonUniver
21,DLCVendorMix,2,FALSE)+SUMIF(3AF$74:3AF$97,"CommonUniversal’,AO$74:A0$97 sal" AOS43:A0866), SUMIF(SAF$74:$AF$7,"CommonUniversal” AO$74:A0897)))
143 J"VLOOKUP($Y21,DLCVendorMix,3,FALSE)) : ' ' ' ' ' ‘ B
pag  =IF(SF30=0,0,SUMIF(SAFS43:5AF$66,"Hardwiredintegrated" AO$43:A0866) VLOOKUP(S | _ . or30-0 o IF(SUM(SADS2: SAFS18)<449, SUMIF (SAF$43:3AF$66, "HardwiredIntegr
v21,DLCVendorMix,2,FALSE)+SUMIF($SAF$74:$3AF$97,"HardwiredIntegrated" AO$74:A0 ated” AO$43:A0$66), SUMIF(SAF$74:5AF$97,"Hardwiredintegrated”, AO$74:A0$97)))
144 $97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) { ' . ! : ’ ! ’
o 3:IF($F31=O,O,SUMIF($AFS431$AF$66, Commo_nIntegrat"ed",AO$43:A0366)*"VLOOKL.JP($ i:IF($F31=0,0,IF(SUM($AD82:$AF$18)<449,SUM|F(SAF$43:$AF$66,"Commonlntegr
Y21,DLCVendorMix,2, FALSE)+SUMIF($AF$74:$AF$97,"Commonlintegrated",A0$74:A0$ lated" AO$43:A0$66),SUMIF($AFS$74:5AF$97 "Commonintegrated"”,A0$74:A0$97)))
145 97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) - | ! ' ’ ' ’ ’ '
=|F($F32=0,0,SUMIF($AF$43:3AF$66,"HardwiredNSW" A0$43:A0$66)*VLOOKUP($Y21, | _ _ . . " ]
P32 DLCVendorMix 2, FALSE )+ SUMIF(SAFST4:5AFS97,"HardwiredNSW" AO$74:A0897)*VLO ! N oo o g g b o Sl i el
146 OKUP($Y21,DLCVendorMix,3,FALSE)) [ ARSSALEER]SL WIE AR AT, PRRANIRORR Y ST AT




AAAAA + N QTP

Docket No. 990649-TF

Confidential
Witness: Donovan-Pitkin
Exhibit No. __ (JCD/BFP-17
A I B c [ D
=|F =] | FS43: W " : ¥ |
by SIFISTAI00SUMIFISAFSASISAFSS CommonSW" AOSAS AOSGE) VLOOKLPISYZT |- 5350, F(SUMSADSZSAFS /<449 SUMIF(SAFSA3SATS66. Common S
. OKUP(SY21 DLCVendorhix 3, FALSE) : AO$43:A0$66), SUMIF(SAF$74:$AF$97 "CommonNSW" A0$74:A0$97)))
| =IF($F34=0,0,SUMIF(SAF$43:3AF$66,"Plug- _ , .
- encensence =IF(3F34=0,0,IF ADS2:$AF$18)<449, SUMIF(SAF$43:SAF$66,"Plug-
P34 inNSW" A0$43:A0$66)*VLOOKUP($Y21,DLCVendorMix,2, FALSE)+SUMIF(SAF$74: 'Mm‘InNFS(;s}V‘?i()cggs%iglngAG(fSUfMF$($Ai$?/L'SAF$97 "Plfjsg—inisvs" Ag$74-ALg$97)))
» 97 "Plug-nNSW" AO$74:A0$97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) ' ‘ ‘ : ’ | :
Q2 FIF(§F2=0,0,(VLOOKUP($G2 DLCCOTChannelunitCosts, 16,FALSE)"VLOOKUP(SD2.DL | |_ o= 0 IF(SUM(SADS$2:5AF$18)<449,VL OOKUP($G2,DLCCOTChannel UnitCost
CVendorMix,2,FALSE)+(VLOOKUP($G2,DLCCOTChannelUnitCostsVendorB,16,FALSE)* .16, FALSE),(VLOOKUP($G2, DLCCOTChannelUnitCostsVendorB, 16,FALSE)))
149 _ VLOOKUP($D2,DLCVendorMix,3,FALSE))))
=IF($F3=0,0,(VLOOKUP($G3,DLCCOTChannelUnitCosts, 16, FALSE)*VLOOKUP($D3,DL
Q3 =IF($F3=0 0 IF(SUM(SAD$2:SAF$18)<449,VLOOKUP($G3,DLCCOTChannelUnitCost
'CVendorMix,2,FALSE)+(VLOOKUP($G3,DLCCOTChannelUnitCostsVendorB, 16,FALSE)" | 4A$:A. SE) (VL nm(u UP($G3,DLCCOTChannelU lmt(‘r(\i‘rQ\/pndnrR 16,FALSE))))
150 VLOOKUP($D3 DLCVendorMix,3,FALSE)))) P N S S R
Q¢ |FIF(SF4=0.0(VLOOKUP($G4 DLCCOTChannelunitCosts, 16,FALSEYVLOOKUPESDA DL 1|_grg=0,0 IF(SUM(SADS2:SAF$18)<449,VLOOKUP($G4,DLCCOTChannelUnitCost
'CVendorMix,2,FALSE )+(VLOOKUP($G4,DLCCOTChannelUnitCostsVendorB,16,FALSE) s.16.FALSE) (VLOOKUP(§G4,DLCCOTChannelUnitCostsVendorB, 16, FALSE))))
151 VLOOKUP($D4,DLCVendorMix,3,FALSE)))) 1 ' | .
qs  =IF(8F5=0,0,(VLOOKUP($G5,DLCCOTChannelUnitCosts, 16,FALSE)"VLOOKUP(SDS DL g5 0 IF(SUM(SADS2:$AF$18)<449, VLOOKUP($GS5, DLCCOTChannelUnitCost
CVendorMix.2,FALSE)+(VLOOKUP(8G5,DLCCOTChannelUnitCostsVendorB, 16,FALSE)" | ™t <& v 0 0KUP($G5,DLCCOTChannelUniiCostsVendorB, 16, FALSE))
152 IVLOOKUP($D5,DLCVendorMix,3,FALSE)))) 2 ; ’ atiek
o T 00U OLCEOTORmMaUN Ot 16 ALSE NLOOKUPS00L | UMSADE A5 VL OOKUPIS L0l
153 VLOOKUP($D8,DLCVendorMix,3,FALSE)))) s,16,FALSE),(VLOOKUP($G6,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
a7 Z'Céi’;g:&g(ZVFLSL%’EL;f(iffgo%ﬁgggf%i”ggg?gﬁgife:Sni’éig/\e/rﬁ?g%’g . | =IF(SF7=0,0.F(SUM(SADS2 SAFS 18)<449.VLOOKUP(SG7,DLCCOTChamnelUnitCost
. VLOOKUP(SD7.DLCVendorMix. 3, FALSE))) $.16,FALSE),(VLOOKUP($G7,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
o =IF (§F8=0,0,(VLOOKUP($G8,DLCCOTChannelUnitCosts, 16,FALSE)*VLOOKUP(SDB.DL | _iciece_0 o I SUM(SADS2:SAF$18)<449,VLOOKUP(5G8,DLCCOTChannelUnitCost
CVendorMix,2,FALSE)+(VLOOKUP($G8,DLCCOTChannelUnitCostsVendorB,16,FALSE) s.16.FALSE) (VLOOKUP($G8,DLCCOTChannelUnitCostsVendorB, 16, FALSE))))
155 'VLOOKUP($D8,DLCVendorMix,3 FALSE)))) 19 ’ : L
! - '=IF($F9=0,0,(VLOOKUP(SAGS,DLCCOTChannelUnitCosts, 16,FALSE)"VLOOKUP(SDS.D | _ <z 1 |F(SUM(SADS2:$AFS 18)<449,VLOOKUP(SAGS,DLCCOTChannelUnitCo
1 'LCVendorMix,2,FALSE)+(VLOOKUP($AGY,DLCCOTChannelUnitCostsVendorB, 16,FALS ‘sts 16,FALSE),(VLOOKUP(SAGS,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
156 3 ‘E) VLOOKUP($D9,DLCVendorMix,3, FALSE)))) [P, ’ ' 10,
o ;=IF(SF10=0,0,(VLOOKUP($AG10,DLCCOTChanne!UnitCosts,16,FALSE)*VLOOKUP($D1 =IF($F10=0,0,IF(SUM(SAD$2:SAF$18)<449,VL OOKUP(SAG10,DLCCOTChannelUnit
10,DLCVendorMix,2,FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,16,F Costs, 16,FALSE),(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB, 16,FALSE)
157 | 'ALSE)*VLOOKUP($D10,DLCVendorMix,3, FALSE)))) )
\
i A
\ =IF($F11=0,0,(VLOOKUP($G11,DLCCOTChannelUnitCosts, 16,FALSE)*VLOOKUP($D11, | _ _ ,
Q1 CVendorMix 2 FALSE)+(VLOOKUP(8G11,0LCCOTChannelUnitCostsvendorB, 16.FALS = (5 1=0.0IF(SUM(SADS2:SAF$18) <449, VLOOKUP(S 611 DLCCOTChannel e
158 | {E)*VLOOKUP($D11 DLCVendorMix, 3, FALSE)))) 0S1S,10,FrALSLE ),{ VLUURUF(9UT11,ULLULU I LHANNEIUNILOSISVENGUID, 10,7 ALos /)
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= F($F12=0,0,(VLOOKUP($G12,DLCCOTChannelUnitCosts,16,FALSE)*"VLOOKUP($D12, \

L2 : . oL NEIUNItLosts, 10,FALSE ) VEIIIRIIS Y 1o, | o r($F1220,0,IF(SUM(SADS2:$AF$18)<449,VLOOKUP($G12,DLCCOTChannelUnitC
- ‘ E\Lg}jg’gﬁﬁﬂfséfgﬁi’;{g;gﬂﬁf SA?_?SZE'E))»L)CCO rChannelUnitCostsVendorB,18,FALS| . 16 FAl SE) (VLOOKUP($G12,DLCCOTChannelUnitCostsVendorB, 16, FALSE))))
3 =IF($F13=0,0,(SUMIF(SAF$43:3AF $66,"Plug- =IF($F13=0,0,(IF(SUM(SADS2:SAF$18)<449, SUMIF(SAF$43:5AF$66,"Plug-
T inintegrated”, AP$43:AP$66)*VLOOKUP($D13,DLCVendorMix, 2, FALSE)+SUMIF(SAFS$74: | inintegrated" AP$S43:AP$66), SUMIF(SAF$74:5AF$97,"Plug-
} $AF$97,"Plug-inintegrated" AP$74:AP$97)*VLOOKUP($D13,DLCVendorMix,3,FALSE))  inintegrated" AP$74:AP$97)))
160 | J((SW2+8X2+$Y2+$Z2+$AB2+SAC2)/(SAD2+$AF2)))*SU2 H(SW2+$X2+5Y 2+$Z2+$AB2+$AC2)/(SAD2+$AF2)))*$U2
| =IF($F14=0,0,(SUMIF(SAF$43:SAF$66,"Plug- =IF($F14=0,0,(IF(SUM(SAD$2:$AF$18)<449 SUMIF (SAF$43:5AF$66,"Plug-
| Ql4 linintegrated" AP$43:AP$66)*VLOOKUP($D14,DLCVendorMix,2,FALSE)+SUMIF($AF$74: inintegrated", AP$43:AP$66),SUMIF(SAF$74:5AF$97,"Plug-
\$AF$97,"Plug-inintegrated” AP$74:AP$97)*VLOOKUP($D14,DLCVendorMix,3,FALSE)) inintegrated” AP$74:AP$97)))
161 ; J((SW3+SX3+3Y3+8Z3+$AB3+SAC3)/(SAD3+SAF3)))*5U3 (SW3+EX3+8Y3+$Z3+5AB3+SAC3)/(SAD3+SAF3)))*$U3
* =IF($F15=0,0,(SUMIF(SAF$43:$AF$66,"Plug- =IF($F15=0,0,(IF(SUM(SAD$2:SAF$18)<449, SUMIF(SAF $43:$AF$66,"Plug-
~.e inintegrated” AP$43:AP$66)*VLOOKUP($D15,DLCVendorMix,2,FALSE)+SUMIF(SAFS74: inintegrated" AP$43:AP$66), SUMIF(SAF$74:$AF$97,"Plug-
A '$AF$97,"Plug-inintegrated” AP$74:AP$97)*VLOOKUP($D15,DLCVendorMix,3,FALSE))  inintegrated” AP$74:AP$97)))
162 J(SW4+§X4+§Y4+$Z4+5AB4+SACA)/(SAD4+SAF4)))*SU4 H(SWA+$X4+§Y4+$Z4+SABA+SACA)/(SADA+SAF4)))*$U4
| =IF($F16=0,0,(SUMIF(SAF$43:$AF$66,"Plug- =IF($F16=0,0, (IF(SUM(SAD$2:SAF$18)<449, SUMIF(SAF$43:SAF$66,"Plug-
Q15 Inintegrated’ AP$43:AP$66)*VLOOKUP(SD16,DLCVendorMix,2, FALSE)+SUMIF(SAFS74:  inintegrated” AP$43:APS66) SUMIF(SAFS74:5AF$97 "Plug-
'$AF$97,"Plug-inintegrated” AP$74:AP$97)*VLOOKUP($D16,DLCVendorMix, 3, FALSE))  inintegrated” AP$74:AP$97)))
163 J((SW5+SX5+8Y5+$Z5+SAB5+SACS)/(SAD5+SAF5)))*SUS J(SW5+EX5+8Y5+$Z5+SAB5+SACE)/(SAD5+$AF5)))*SUS
| =IF($F17=0,0,(SUMIF(SAF$43:5AF$66,"Plug- =IF($F17=0,0,(IF(SUM(SAD$2:SAF$18)<449, SUMIF (SAF$43:SAF$66,"Plug-
Q17 inintegrated” APS43:APS66)"VLOOKUP(8D17, DLCVendorMix, 2, FALSE)+SUMIF(SAFS74:  inintegrated” AP$43:APS66) SUMIF(SAFS74:5AFSS7 "Plug-
|$AF$97,"Plug-inintegrated” AP$74:AP$97)*VLOOKUP($D17 DLCVendorMix,3,FALSE))  |inIntegrated” AP$74:AP$97)))
164 J((SWB+$XB+$Y6+$Z6+$ABB+SACE)/(SADE+SAFE)))*SUB [((SWB+EX6+5Y6+$Z6+SABE+SACE)/(SADE+$AFE)))*SUE
qig  |=IF(8F18=0,0,(VLOOKUP(§G18,DLCCOTChannelUnitCosts, 16, FALSE)"VLOOKUP(D18, |- ¢r 1520 0 |F(SUM(SADS2:SAF$18)<449,VLOOKUP($G18,DLCCOTChannelUnitC
DLCVendorMix,2,FALSE)+(VLOOKUP($G18,DLCCOTChannelUnitCostsVendorB,16,FALS osts 16,FALSE),(VLOOKUP($G18,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
165 E)*VLOOKUP($D18,DLCVendorMix,3,FALSE)))) L ’ : S |
Qtg  |ZIFF19=0,0,(VLOOKUP(SG19,DLCCOTChannelUnitCosts, 16,FALSE)'VLOOKUPEDIS, ¢ qp 1920 0, IF(SUM(SADS2:5AF$18)<449,VLOOKUP($G19,DLCCOTChannel UnitC
DLCVendorMix,2,FALSE)+(VLOOKUP($G19,DLCCOTChannelUnitCostsVendorB,16,FALS osts 16,FALSE),(VLOOKUP($G19,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
166 E)*VLOOKUP($D19,DLCVendorMix,3,FALSE)))) ket : : 2 |
. qao  =IF(SF20=0,0(VLOOKUP(SAGY,DLCCOTChannelUnitCosts, 16,FALSE)"VLOOKUP(SD20, _ ¢ o010 0 |F(SUM(SADS2:SAF$18)<449,VLOOKUP(SAGY,DLCCOTChannelUnitC
; DLCVendorMix,2,FALSE)+(VLOOKUP($AG9,DLCCOTChannelUnitCostsVendorB,16,FAL osts,16.FALSE),(VLOOKUP(SAG9,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
167 | SE)*VLOOKUP($D20,DLCVendorMix,3,FALSE)))) 5 : ' HOTAESEI
Q2 =IF(6F21=0,0,(VLOOKUP(SAG10,DLCCOTChannelUnitCosts, 16, FALSE)*VLOOKUP(SD2 | =IF($F21=0,0,IF(SUM(SADS2:$AFS 18)<449,VLOOKUP(SAG10,DLCCOT ChannelUnit
'1,DLCVendorMix,2, FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,16,F | Costs,16,FALSE),(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,16,FALSE)
168 B |ALSE)*VLOOKUP($D21,DLCVendorMix,3, FALSE)))) )
|
qzz  FIF(SF22=0,0,(VLOOKUP($G22 DLCCOTChannelUnitCosts, 16,FALSE)"VLOOKUP(SD22, |\ gron_ o |F(SUM(SADS2:5AFS18)<449,VLOOKUP($G22,DLCCOTChannelUnitC
‘ DLCVendorMix,2,FALSE)+(VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB,16,FALS is.16.FALSE), (VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB, 16,FALSE))))
169 f E)*'VLOOKUP($D22,DLCVendorMix,3,FALSE)))) 2318, 19, W PR sihek
| =IF($F23=0,0,(SUMIF(SAF$43:5AF$66,"Plug- =IF($F23=0,0,(IF(SUM(SADS2:$AF$18)<449, SUMIF(SAF$43:$AFS66,"Plug-
| g3 ininiegrated’,AP$43:AP$66)"VLOOKUP(SD23,DLCVendorMix.2 FALSE+SUMIF(SAFS74: inintegrated” AP$43:APS66) SUMIF(SAFS74:SAFSS7, Plug-
| $AF$97 "Plug-inintegrated” AP$74:AP$97)*VLOOKUP($D23,DLCVendorMix,3, FALSE))  inintegrated” AP$74:AP$97)))
170 i J(SWA2+8X12+$Y12+5Z12+$AB12+$AC12)/(SAD12+$AF 12)))*$U12 H(SW12+8X12+$Y12+$Z12+SAB12+$AC12)/(SAD12+§AF 12)))*$U12
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A [ B [ C D
= = MIF($AF$43:SAF * wiredALL" Al Af “VLOOKUP($Y21,D | , s . o .
Q24 Lgéseiiirﬁlggg ;L’;‘éﬁ SSSMﬁf(\S :g%ﬁ;f}:s;ff;;r aﬁv 233\'5S/fgé;izgé)sé;)*&éo’g =IF(§F24=0,0,IF(SUM(SADS2:SAF$18)<449, SUMIF (SAF$43:SAF$66,"HardwiredALL",
171 UP($Y21,DLC;V,endorMix,&FALSE)) ! ! AP$43:AP$66), SUMIF(SAF$74:$AF$97,"HardwiredALL", AP$74:AP$97)))
| |
Q25 ‘—~|;:rs;:25 0,0,SUMIF(SAFS$43:5AF$66,"CommonALL" AP$43:AP$66)*VLOOKUP($Y21, DLE-n-($F25 =0,0,IF(SUM(SADS$2:SAF$18)<449,SUMIF (S ACAECAR B Al L
'CVendorMix,2,FALSE)+SUMIF(SAF$74:$AF$97,"CommonALL", AP$74:AP$97)*VLOOKUP - + °'jr 43:5AF$66,"CommonALL
172 (§Y21.DLCVendorMix 3. FALSE)) AP$43:APS66), SUMIF(SAF$74:SAFS07,"CommonALL" APST4:APSOT))
173 OKUP($Y21 DLCVendorMix 3 FALSE)) ,AP$43:AP$66),SUMIF($AF$74:$AF$97, CommonADSL" AP$74:AP$97)))
Adin L F($F27=0,0,SUMIF($AF$43:3AF$66,"CommonHDSL",AP$43:AP$66)*VLOOKUP($Y21, | _ CANGO-TAER " '
= ‘D LCVendorMix 2, FALSE)*SUMIF(SAF$74:$AF$97,"CommonHDSL" AP$74:AP$97)*VLO :.”;f i X = TFBLMpRT if;’*,ip;":gif‘iigo'i*i';r\flﬁ(,%\AOF.%A? oSk
174 UP($Y2‘I,DLCVendorM!x,3 FALSE)) D4IAFD00), SUIVIF(DAr/4I0Ard /7, LOIMIMONNMUOL AR/ AM9Il)))
Q28 }=IF(SF28 =0,0,SUMIF($AF$43:5AF$66, HardwxredUnlverfaI AP$43:APS66) '\,/LOOKUP($ =|F($F28=0,0,IF(SUM(SADS$2:3AF$18)<449,SUMIF(SAF$43:3AF$66,"HardwiredUnive
Y21,DLCVendorMix,2,FALSE)+SUMIF($SAF$74:3AF$97,"HardwiredUniversal" AP$74:AP$ rsal” AP$43-APS66), SUMIF(SAFS74:$AF$97,"HardwiredUniversal” AP$74:AP$97)))
175 97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) ’ : ! ’ ! ! ' U
Qog  =IF(8F29=0,0,SUMIF(SAFS43:5AFS66,"CommonUniversal”. AP$43:APSE6)"VLOOKUP(SY || gro920 0 IF(SUM(SADS2:SAFS18)<449, SUMIF(SAFS43:SAF$66,"CommonUniver
21,DLCVendorMix,2,FALSE)+SUMIF($AF$74:$AF$97,"CommonUniversal ,AP$74AAP$97)'sa],, AP$S43:AP$66), SUMIF(SAF$74:SAF$97."CommonUniversal” APS74:APS97)))
176 *VLOOKUP($Y21,DLCVendorMix,3,FALSE)) d ’ ! ’ ! ’ '
Q30 =|F($F30=0,0,SUMIF($AFS43:$AF$66, Hardw:r‘edlntegre'zlted ,AE’$43:AP$66) YLOOKQP($ =IF (8F30=0,0,IF(SUM(SADS2:$AF$18)<449 SUMIF(SAF$43:$SAF$66, "Hardwiredintegr
Y21,DLCVendorMix,2,FALSE)+SUMIF($SAF$74:3AF$97,"Hardwiredintegrated” AP$74:AP$ ated" AP$43:AP$66), SUMIF(SAF$74:5AF$97, "Hardwiredintegrated” AP$74:AP$97)))
177 97)*"VLOOKUP($Y21,DLCVendorMix,3,FALSE)) : ' ! ’ ! ' ’
Qa1 ZIF(SF31=0.0 SUMIF(SAFS43:5AFS66,"Commonlntegrated” APS43:APS66) VLOOKUP(SY _ a1 s o |F(SUM(SADS2:SAFS 18)<449, SUMIF(SAFS43:SAFS66,"Commonintear
21,DLCVendorMix,2,FALSE)+SUMIF($AFS$74:$AF$97,"Commonintegrated”, AP$74:AP$97 ated" AP$43:AP$66), SUMIF(SAFS$74:SAF$97,"Commonintegrated” AP$74:AP$97)))
78] Y*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) ! ’ ! : ' ' :
179 OKUP($Y21,DLCVendorMix,3,FALSE)) i AP$43:AP$66),SUMIF($AFS$74:$AF$97,"HardwiredNSW", AP$74:AP$97)))
Qaz | ~IF(SF33=0,0,SUMIF(SAFS43:5AFSE6,"CommonNSW" AP$43:APSE6)"VLOOKUPSY21.D| e gr 3320 0 IF(SUM(SADS2:3AF$18)<449, SUMIF(SAF$43:SAFS66,"CommonNSW",
LCVendorMix,2,FALSE)+SUMIF($SAF$74:3AF$97,"CommonNSW" AP$74:AP$97)"VLOOK APS$43:AP$66), SUMIF(SAFS74:$AFS$97,"CommonNSW" APS$74:AP$97))
180 [UP($Y21,DLCVendorMix,3,FALSE)) e ! ' ’ ’ ’
| =IF($F34=0,0, SUMIF($AF$43:3AF$686,"Plug- iy _ ) . " )
Q34 INNSW" AP$43:AP$66)*VLOOKUP($Y21,DLCVendorMix,2, FALSE)+SUMIF(SAF$74:5AFS I;LFS(&::BX;%EBIigé@g?gg&ﬁj@:&;782?:2593M,L}I:éw'\:gg?/vwfggiZ‘;ggn))
181 197 "Plug-inNSW" AP$74:APS$97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) w L ! d ’ ' g ' ’
| | ' -
1 '=|F($F2=0,0,(VLOOKUP($G2,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP($D2,DL )
; B2 iCVer‘a.*or!\’!;x 2 FALSE)+(VLOOKUP($G2,DLCCOTChannelUnitCostsVendorB, 17, FALSE)* "”:?:2 =0.0, IF(SUM(SAP?%%&E@?E&?\.Q UOORUFIYGS, DLCCPTPE?mleiU\TtCOSt
182 ‘ ‘VLOOKUP($D2 DLCVendorMix,3, FALSE)))) s,17,FALSE),(VLOOKUP($GZ2, DLCCOTChanneiUnitCostsVendorB,17,FALSE})))
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A B | g | D
=IF($F3=0.0,(VLOOKUP($G3,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP(SD3,0L |_ _ «o.._ _ o _
R CVendorMix 2, FALSE )+ (VLOOKUP($G3,DLCCOTChannelUnitCostsVendorB, 17, FALSE)* ‘"F<$F3-0-0"F(SUM($AD$2.3AF$18)<449’VLO[OKVP($(’3'DLd"CBOIS"F‘f\”L”SeE'U”“COSI
183 VLOOKUP($D3,DLCVendorMix,3,FALSE)))) s,17,FALSE),(VLOOKUP($G3,DLCCOTChannelUnitCostsVendorB,17, »)
R  =IF(8F4=0,0,(VLOOKUP($G4 DLCCOTChannelUnitCosts, 17 FALSE)"VLOOKUP(SDA4 DL | i g4 o IF(SUM(SADS$2:5AF$18)<449,VLOOKUP($G4,DLCCOTChannelUnitCost
184 533?@6ﬁ’&§f@i§5§§§5§4?x+<3“ Eﬁ\ﬁég;mmohame‘UthOStSVE”dOFB'17'FALSE) '5,17,FALSE), (VLOOKUP(§G4,DLCCOTChannelUnitCostsVendorB, 17, FALSE)))
=IF($F5=0,0,(VLOOKUP($G5,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP(SD5,DL |_ . cp_ , ,
. CVendorMix 2, FALSE)+(VLOOKUP($G5,DLCCOTChannelUnitCostsVendorB, 17, FALSE)* ;'f;ﬁf/f[gg 'g}fgg”%ggégﬁ%ggﬁéﬁ; ';\2(%ﬁggéﬁggsnﬁfgjfrF‘f\”L’;eE“)J)')‘)”COSt
185 VLOOKUP($D5,DLCVendorMix,3,FALSE)))) iy : ' AT
_ |=IF($F6=0.0,(VLOOKUP($G6,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP(SD6,0L | _ _ apw. rmen. 3 . SR
RO CVendorMix 2,FALSE J+(VLOOKUP(3G6 DLCCOTChannelUnitCostsVendorB. 17, FALSE)* | (oF 0=0.0.IF(SUM(SADS2:$AF$18)<449,VLOOKUP(SC6, DLCCOTChannelUnitCost
186 VLOOKUP($D6,DLCVendorMix,3, FALSE))) s,1/,FALSE),(VLUOUKUF (L0, ULLLL T Lnanneiuni SISVenaorn,1/7,rALoc))))
=IF($F7=0,0,(VLOOKUP($G7,DLCCOTChannelUnitCosts, 17,FALSE)*VLOOKUP(SD7,0L | _ e oo , .
HE CVendorMix 2, FALSE)+(VLOOKUP($G7,DLCCOTChannelUnitCostsVendorB, 17, FALSE)* ;'fﬁg[g% ' g,‘fgg"%ggé?ﬁ?ggﬁéﬁ% iﬁﬁﬁﬁgﬁﬁi@fnﬁ?é) 1T7C 'F‘f\’tnseé%r)’;tcm
187 VLOOKUP($D7,DLCVendorMix,3,FALSE)))) 7 : : AT,
\=IF($F8=0,0,(VLOOKUP(SG8,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP(SDS,DL | _ - , .
R CVendorMix,2,FALSE)+(VLOOKUP($G8,DLCCOTChannelUnitCostsVendorB, 17, FALSE)* “’F($F8'°'0"F(SUM“AD”'“[‘)':LM8)<4é9'VLOﬁKpg($?%DLdCCéDISgirI‘_%eéU”'tCOSt
188 VLOOKUP(SD8,DLCVendorMix.3,FALSE))) s,17 FALSE),(VLOOKUP($G8,DLCCOTChannelUnitCostsVendorB,17, )
=IF($F9=0.0,(VLOOKUP(SAGY,DLCCOTChannelUnitCosts, 17, FALSE)'VLOOKUP(SDI.D | cra. _ .
RO | CVendorMix 2 FALSE)+(VLOOKUP(SAGS,DLCCOTChannelUnitCostsVendorB, 17, FALS ;tf(1$7FEﬁ'@éfiifggfggéié?éf?éﬁZﬁgﬁimf’@ﬁs’%gﬁ; f;aF’X‘f'SUE”)';)?O
189 E)*'VLOOKUP($D9,DLCVendorMix,3,FALSE)))) e ' T
rio  =IF(SF10=0,0,(VLOOKUP(SAG10,DLCCOTChannelUnitCosts, 17,FALSE)'VLOOKUP(SD1 | =IF(SF10=0,0./F(SUM(SADS2:SAFS18)<449,VLOOKUP(SAG10,DLCCOTChannelUnit
0,DLCVendorMix,2, FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,17,F |Costs,17 FALSE),(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,17,FALSE)
190 ALSE)*VLOOKUP($D10,DLCVendorMix,3,FALSE)))) 0 R
=IF($F11=0,0,(VLOOKUP($G11,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP($D11, |_ B _ .
R1T DLCVendorMix.2. FALSE)+ (VLOOKUP($G11,DLCCOTChannelUnitCostsVendorB, 17, FALS (o | 1'O’O"F(SUM($AD$2'$A:$ng44%(v;ooﬁpft%e1 : 'SLCC?OBT ?;‘aF”:f'SUE“'tC
191 E)*VLOOKUP($D11,DLCVendorMix,3,FALSE)))) josts,17,FALSE),(VLOOKUP($G11, COTChannelUnitCostsVendorB,17, )
=IF(§F12=0,0,(VLOOKUP($G12,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP(SD12, | _ ) _ A
R12 bl CVendorMix 2, FALSE)+(VLOOKUP($G12,DLCCOTChannelUnitCostsVendorB, 17,FALS ‘”:($F12‘0'0"F(SUM<$AD32'$AF$SE)<€4?F&OOK|UP.(scmf'SLCfOTC;a;A‘f'SUE””C
192 E)"VLOOKUP($D12,DLCVendorMix,3 FALSE)))) osts, 17, FALSE),(VLOOKUP($G12,DLCCO annelUnitCostsVendorB,17, )
| =IF($F13=0.0,(SUMIF (SAF$43:5AF$66,"Plug- =IF(8F13=0,0,(IF(SUM(SAD$2:SAF$18)<449, SUMIF (SAF$43:3AF $66,"Plug-
nqz  inintegrated’ AQS¢3:AQS66)"VLOOKUP(SD13,DLCVendorMix,2, FALSE)*SUMIF(SAFS74: linlntegrated,AQS43:AQS66), SUMIF(SAFST4:SAFSS7 "Plug-
$AF$97,"Plug-inintegrated”, AQ$74:AQ$97)*VLOOKUP($D13,DLCVendorMix,3,FALSE))  |inintegrated" AQ$74:AQ$97)))
193 I((SW2+SX2+5Y2+$72+$AB2+SAC2)/(SAD2+SAF2)))*SU2 H(SW2+$X2+5Y2+$72+$AB2+SAC2)/(SAD2+$AF2)))"S U2
T =IF($F14=0,0,(SUMIF(SAF$43:5AF$66, Plug- =IF(§F14=0,0,(IF (SUM(SAD$2:SAF$18)<449,SUMIF (SAF$43:SAF$66, "Plug-
"y inintegrated” AQS43:AQ$66)VLOOKUP(8D14,DLCVendorMix,2, FALSE)+SUMIF(SAF$74: inlntegrated” AQ$43:AQ866), SUMIF(SAFS74:SAFS97,"Plug-
o I$AF$97 "Plug-inintegrated”,AQ$74:AQ$97)*VLOOKUP(3D14,DLCVendorMix,3,FALSE))  linintegrated”, AQ$74:AQ$97)))
194 (SW3+8X3+8Y3+$Z3+5AB3+SAC3)/(SAD3I+SAF3)))'SU3 J(SW3+SX3+SY3+§Z3+SAB3+SAC3)/(SAD3I+SAF3)))"SU3
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D

196

| c

| =IF($F15=0,0,(SUMIF(3AF$43:3AF$66,"Plug-

inintegrated" AQ$43:AQ$66)*VLOOKUP($D1 5,DLCVendorMix,2,FALSE)+SUMIF(SAF$74:
$AF$97,"Plug-inintegrated”, AQ$74:AQ$97)*VLOOKUP($D15,DLCVendorMix,3,FALSE))
H(SWA+SX4+$Y4+$Z4+3ABA+SACA)/(SADA+SAF4)))*SU4

((W4+$X4+8Y4+3Z4+3AB4+SAC4)/(SAD4+$AF4))) $U4

=IF($F15=0,0,(IF(SUM(3AD$2:5AF$1 8)<449, SUMIF(SAF$43:$AF$66,"Plug-
‘ inintegrated” AQ$43:AQ%66), SUMIF(SAF$74:3AF$97 "Plug-
‘inintegrated” AQ$74:AQ$%97)))

=IF($F16=0,0,(SUMIF(SAFS$43:3AF$66,"Plug-
inlntegrated” AQ$43:AQ$66)*VLOOKUP($D16,DLCVendorMix,2, FALSE )+SUMIF(SAFS$74:

; $AF$97 "Plug-inintegrated” AQ$74:AQ$97)*VLOOKUP($D16,DLCVendorMix,3,FALSE))
§/(($W5+$X5+$Y5+$Z5+$AB5+$AC5)/($AD5+$AF5)))*$U5

=|F($F16=0,0,(IF(SUM(SAD$2:$AF$1 8)<449 SUMIF(SAF$43:5AF$66,"Plug-
inintegrated” AQ$43:AQ$66), SUMIF(SAF$74:$AF$97,"Plug-

inIntegrated” AQ$74:AQ$97)))
J((SW5+$X5+3Y5+$Z5+3AB5+$AC5)/(SAD5+$AFS5)))*$US

197

R17

=IF($F17=0,0,(SUMIF(3AF$43:3AF$66,"Plug-
linintegrated" AQ$43:AQ$66)*VLOOKUP($D1 7,DLCVendorMix,2,FALSE)+SUMIF($SAF$74:
$AF$97 "Plug-inintegrated”,AQ$74:AQ$97)*VLOOKUP($D17,DLCVendorMix,3,FALSE))
[((SW6B+$X6+$Y6+$Z6+3AB6+SACE)/(SADE+SAFE)))*$UG

=|F($F17=0,0,(IF(SUM($ADS$2:5AF$18)<449,SUMI F($AF$43:3AF$66,"Plug-
linintegrated" AQ$43:AQ$66), SUMIF(SAF$74:8AF$97,"Plug-

inintegrated” AQ$74:AQ$97)))
/(($W6+$X6+$Y6+$ZG+$AB6+$ACG)/($AD6+$AF6)))*$U6

198

A
(=3

|E)*VLOOKUP($D18,DLCVendorMix,3,FALSE))))

=IF($F18=0,0,(VLOOKUP($G18,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP($D18, | _
DLCVendorMix,2,FALSE)+(VLOOKUP($G18,DLCCOTChannelUnitCostsVendorB, 17, FALS &

199

R19

=IF($F19=0,0,(VLOOKUP($G19,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP($D19,
DLCVendorMix,2,FALSE)+(VLOOKUP($G19,DLCCOTChannelUnitCostsVendorB,17,FALS

=IF($F19=0,0,IF(SUM($AD$2:3AF$18)<449,VLOOKUP($G19,DLCCOT ChannelUnitC
osts,17,FALSE),(VLOOKUP($G19,DLCCOTChannelUnitCostsVendorB,17,FALSE))))

200

R20

|E)*VLOOKUP($D19,DLCVendorMix,3,FALSE))))

=IF($F20=0,0,(VLOOKUP($AGY,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP($D20,
DLCVendorMix,2,FALSE)+(VLOOKUP($AGY,DLCCOTChannelUnitCostsVendorB,17,FAL
SE)*VLOOKUP($D20,DLCVendorMix,3,FALSE))))

=IF($F20=0,0,IF(SUM(SADS2:$AF$18)<449,VLOOKUP($AGY,DLCCOTChannelUnitC
osts,17,FALSE),(VLOOKUP($AGY,DLCCOTChannelUnitCostsVendorB,17,FALSE))))

201

R21

=IF($F21=0,0,(VLOOKUP($AG10,DLCCOTChannelUnitCosts, 17, FALSE)*VLOOKUP($D2
1,DLCVendorMix,2, FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,17,F

=|F($F21=0,0,IF(SUM($3ADS$2:3AF$18)<449,VLOOKUP($AG10,DLCCOTChannelUnit
Costs, 17 ,FALSE),(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,17,FALSE)
D))

202

R22

ALSE)*VLOOKUP($D21,DLCVendorMix,3,FALSE))))

=IF($F22=0,0,(VLOOKUP($G22,DLCCOTChannelUnitCosts, 17 FALSE)*VLOOKUP($D22,
'DLCVendorMix,2,FALSE)+(VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB,17,FALS
|E)*VLOOKUP($D22,DLCVendorMix,3,FALSE))))

=IF($F22=0,0,IF(SUM(SADS$2:$AF$18)<449,VLOOKUP(§G22,DLCCOTChannelUnitC
osts,17,FALSE),(VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB,17,FALSE))))

203

R23

| =IF($F23=0,0,(SUMIF(SAF$43:5AF$66,"Plug-

inintegrated”, AQ$43:AQ$66)VLOOKUP($D23,DLCVendorMix,2, FALSE)+SUMIF(SAFS74:
'$AF$97 "Plug-inintegrated”, AQS74:AQ$97)*VLOOKUP($D23,DLCVendorMix,3, FALSE))
(SW12+5X12+8Y 12+$Z12+SAB12+SAC12)/(SAD12+$AF 12)))*$U12

| =IF($§F23=0,0,(IF(SUM($ADS$2:$AF $18)<449, SUMIF (SAF343:3AF $66,"Plug-
inintegrated” AQ$43:AQ$66), SUMIF (SAF$74:3AF$97 "Plug-

inintegrated”, AQ$74:AQ$97)))
H(SW12+3X12+$Y12+$Z12+SAB12+$AC12)/(SAD12+$AF 12)))*$U12

204

R24

| =IF($F24=0,0,SUMIF($SAF$43:$AF$66,"HardwiredALL" AQ$43:AQ$66)"VLOOKUP(§Y21,D
LCVendorMix,2,FALSE )+SUMIF($SAF$74:$AF$97,"HardwiredALL" AQ$74:AQ$97)*"VLOOK
UP($Y21,DLCVendorMix,3,FALSE))

|=IF($F24=0,0,IF(SUM($ADS$2:SAF$18)<449, SUMIF (SAF$43:3AFS$66,"HardwiredALL",
|AQ$43:AQ%$66), SUMIF($SAF$74:3AF$97,"HardwiredALL" AQ$74:AQ$97)))

205

=IF($F25=0,0,SUMIF($AF$43:5AF$66,"CommonALL",AQ$43:AQ$66)*VLOOKUP($Y21,D
LCVendorMix,2,FALSE)+SUMIF($AF$74:$AF$97,"CommonALL" AQ$74:AQ$97)*VLOOK
UP($Y21,DLCVendorMix,3,FALSE))

=IF($F25=0,0,IF(SUM(SAD$2:$AF$18)<449, SUMIF (SAF$43:5AF$66,"CommonALL",
AQ$43:AQ$66),SUMIF(SAF$74:3AF$97,"CommonALL" AQ$74:AQ8$97)))

206

=|F($F26=0,0,SUMIF($AFS43:$AF$66,"CommonADSL",AQ$43:AQ$66)*VLOOKUP($Y21 ,
DLCVendorMix,2, FALSE}+SUMIF($AF$74:$AF$97 "CommonADSL" AQ$74:AQ$97)*VLO

rl
LU VENGOTVE yOALS T TV iy ol

OKUP($Y21,DLCVendorMix,3,FALSE))

P e AR —enm v

AQ$43:AQ%66),SUMIF(SAF$74:3AF$97,"CommonADSL
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A I B l c l D

= F($F27=0,0,SUMIF(SAF$43:$AFS$66,"CommonHDSL",AQ$43:AQ8$66)*VLOOKUP(SY21,

R27 | : \ i B (Y21, |_ £ F2720.0,IF(SUM(SADS2:$AF$18)<449, SUMIF(SAF$43:$AF$66,"CommonHDSL"
'DLCVendorMix 2 FALSE)+SUMIF(SAFS74:SAF$97,"CommonHDSL',AQ$74:AQ897)'VLO | 10, - g g - \
.  OKUP(SY21.0LCVendoring FALSE) o AQS43,AQS66) SUMIF(SAFS74:SAFSS7."CommonHDSL" AQST4AQSST)
—IF(SF280,0, SUMIF(SAFS43:SAF$66,"HardwiredUniversal’ AQ$43:AQ$66) VLOOKUP(S | _ Lo o i s e e e
R28 L ' A t : ¥ | =IF($F28=0,0,IF(SUM($ADS2:3AF$18)<449,SUMIF(SAF$43:3AFS66, "HardwiredUnive
'Y21,DLCVendorMix2,FALSE)+SUMIF (SAF$74:3AF$97, "HardwiredUniversal",AQ$74:AQ8 |~ ) A B A g il 7 ,
- Ll e rsal" AQ$43-AQ366), SUMIF (SAF$74:SAF$97, "HardwiredUniversal” AQ$74:AQ$97)))
hpo  =IF(SF29=0.0 SUMIF(SAFS43 SAFSG8. CommonUniversal” AQS43:AQSE8) VLOOKUP(SY |_ic -0, o (s UM(SADS2:SAFS18)<449, SUMIF(SAFS43 SAFSE8,"CommonUniver
| 21,DLCVendorMix,2, FALSE)+SUMIF($AF$74:3AF$97,"CommonUniversal* AQ$74:AQ$97 sal" AQS43:AQ866) SUMIF(SAFS74:3AFS97 "CommonUniversal” AQ$74:AQ897))
209 1 )*VLOOKUP(§Y21,DLCVendorMix,3,FALSE)) ’ ' ' ' ' ’ AQST
. =IF(SF30=0.0.SUMIF(SAF$43:5AF$66, Hardwiredintegrated” AQ$S43:AQ866)"VLOOKUP(S | _ = e a0 A€ AESA R a0 SUIMIE(S AESAA: o
‘ e v21,DLCVendorMix, 2, FALSE)+SUMIF(SAF$74:$AF$97 "HardwiredIntegrated” AQ$74:AQ ‘:é“‘?géfsollgfmsaéws“A‘fv””?::;";;;frogn:'UJTA(V'VA?{?}AF‘ZEG,\ng‘f/',r\e,(\mlfﬁf
210 $97)"VLOOKUP($Y21,DLCVendorMix,3,FALSE)) HREYSUMIFRARSIS.ARSS), CHNITIRIRIEC Ao PRrsm i)
Ray  IF(SF31=0,0 SUMIF(SAFS43:5AFS66, Commonintegrated", AQS43:AQSE6) VLOOKUPGS | gr31-0,0 IF(SUM(SADS2:SAF$18)<449, SUMIF (SAF$43:SAFS66, "Commonintegr
Y21,DLCVendorMix,2, FALSE)+SUMIF($AF$74:$AF$97 "Commonintegrated” AQ$74:AQ$ ated" AQS43:AQ366), SUMIF(SAFS74:$AF$97,"Commonlintegrated” AQS74:AQ$97)))
211 97)*VLOOKUP($Y21,DLCVendorMix,3,FALSE)) : ' ' : ' ' '
Rap  ZIF(SF32=0,0,SUMIF(SAFS43:SAFSGE, HardwiredNSW" AQS43IAQSEE) VLOOKUPSY21 ¢ gr 3520, 0,IF(SUM(SADS2:SAFS18)<449, SUMIF(SAFS43:SAFSE6, "HardwiredNSW
DLCVendorMix 2,FALSE)+ SUMIF(SAFS74:SAFSO7, HardwiredNSWW" AQSTAAQSTI'VLO |- B GAFS07 "HardwiredNSW" AQS74-AQS97))
212 OKUP($Y21,DLCVendorMix,3,FALSE)) B : ‘ : ’ ’ '
Rag  |"IF(SF33=0.0.SUMIF(SAFS43:AFS66, CommonNSW" AQS43:AQS6) VLOOKUPISY21, . gras=0 0 1F(SUM(SADS2: SAF$18)<449, SUMIF (SAFS43:SAFSE6,"CommonNSW",
DLCVendorMix,2,FALSE)+SUMIF(SAFS74:SAFS97,"CommonNSW" AQST4:AQSS7)'VLO | 3 (e’ Gcady SUMIF (SAFS74-SAFSG7 “CommonNSW" AQST4AQSST))
213 \OKUP($Y21,DLCVendorMix,3,FALSE)) : ' ~ : ' ' '
| =IF(§F34=0,0,SUMIF (SAF$43:$AFS66,"Plug- ! . _ .
: ‘ . . : 449 SUMIF(SAF$43-SAF$66,"Plug-
R34 InNSW" AQS$43:AQ$66)"VLOOKUP(SY21,DLCVendorMix,2, FALSE)+SUMIF(SAFS74:SAFS ingéﬁg.?ié’égﬂgggﬂgégfj§§;§;$£,$ A?:&U? "Ptifmsﬁ ;’V\? ;gw . A‘§$97)))
s 97 "Plug-inNSW" AQ§74:AQ$97)*VLOOKUP($Y21 DLCVendorMix,3,FALSE)) ' ‘ : : ’ ' '
s2 ] Z'Céigi:&}g'évéfl_%’g;igLGOZ’ODKLSFiggZC%aL”ggg%ﬁ;’E;Sé:&]iét?g{/z&%?ﬁg Sffs'g'): =IF($F2=0,0,IF(SUM(SAD$2:SAF$18)<449,VLOOKUP($G2,DLCCOTChannelUnitCost
o1 OGP D2 PLEVendora P AL 5,18 FALSE), (VLOOKUP($G2,DLCCOTChannelUnitCostsVendor8, 18 FALSE))))
s3 Z'\féizz:&ig*(ZVFLQLOS%ESE&DKLSPC(g;ggafggg?gﬁgife':j&éﬁgbgkz?;?; fffs'%, <IF($F3=0,0,IF(SUM(SADS2:$AF$18)<449,VLOOKUP($G3,DLCCOTChannelUnitCost
o1s A O E s DLEasdari s S ALEEN 5.18,FALSE) (VLOOKUP(§G3 DLCCOTChannelUnitCosts\Vendore, 13,FALSE))
g4 =IF(SF4=0,0,(VLOOKUP($G4,DLCCOTChannelUnitCosts, 18,FALSE)'VLOOKUP(SDA4,DL | gr4-0 o IF(SUM(SAD$2:SAF$18)<449,VLOOKUP($G4,DLCCOTChannelUnitCost
‘ ;CVendoerx,Z,FALSE)+(VLOOKUP($G4,DLCCOTChanneIUnltCostsVendorB,18,FALSE) 5.18 FALSE),(VLOOKUP(§G4,DLCCOTChannelUnitCostsVendorB, 18,FALSE)))
217 | 'VLOOKUP($D4,DLGVendorMix,3,FALSE)))) 18, ' ' 18,
| |
| i . "
~IF ($F5=0,0,(VLOOKUP($G5,DLCCOTChannelUnitCosts, 18, FALSE)*VLOOKUP($D5,0L | _ oo , .
I | CVondorMix 2 FALSE)+(VLOOKUP(SGS,DLCCOTChannelUnitCostsVendorB, 18, FALSE) "f?;:[gg"Fv‘fgM}((%APD%%f_%ﬂﬁig'vhof).@f(w?:DL.CCPLCE?T'le}f?\'tCOSt
218 ; \VLOOKUP(SD5,DLCVendorMix,3, FALSE)))) 5,18, )( (6] ($G5,DLCCOTChanneiunitCostsVendorB, 18,FALSE])))




B € | D
=IF($F6=0,0,(VLOOKUP($G6,DLCCOTChannelUnitCosts, 18, FALSE)*VLOOKUP($DB.OL | «rr - o oo R, )
= VendorMix.2, FALSE)+(VLOOKUP($G6,DLCCOTChannelUnitCostsVendorB, 18,FALSE)* 5;'; f;/fl:gg)"Féfggg‘giégﬁ%ggﬁéﬁ;‘ ;gfjﬁ;fggig%&d%?sgE;'l'é“é‘)’)))'t" o5t
219 'VLOOKUP(SD6,DLCVendorMix,3,FALSE)))) 1518, ’ ' i1
ST o e ostcuemsorb. 16 aLE) | =IF(SF7=0,0,IF(SUMISADS2 SAFS18)<449,VLOOKUP(SGT,DLCCOTChannelUnitCost
CVendorMix,2, i , annelUnitCostsVendorB, 18, P :
290 'VLOOKUP($D7,DLCVendorMix,3,FALSE)))) ) s,18,FALSE),(VLOOKUP($G7,DLCCOTChannelUnitCostsVendorB,18,FALSE))))
=IF($F8=0.0,(VLOOKUP($G8,DLCCOTChannelUnitCosts, 18, FALSE)*VLOOKUP(SD8,0L | _ _ «ro_ , .
S8 | CVendorMix.2, FALSE)+(VLOOKUP($G8,DLCCOTChannelUnitCostsVendorB, 18,FALSE)* ‘;'fés}f:[gg)"558%"&@3%2%’1%35?@; ';12'%ﬁi‘fggg@gﬂﬁ%ﬂg’F‘f\”l_”seE'L)J)r;)”COSt
221 'VLOOKUP(SD8,DLCVendorMix,3,FALSE)))) B, * : 18, b
=IF($F9=0,0,(VLOOKUP(SAGS,DLCCOTChannelUnitCosts, 18,FALSE)*VLOOKUP(SD9,D .
s9 : OTChannelUnitCosts, 18, FALSE)'VLOOKUP(SDS.D |k 5r9=0,0,IF(SUM(SADS2:8AF$18)<449,VLOOKUP($AGI,DLCCOT ChannelUnitCo
" lé?\\//i?fgiooz\ﬂ;éEfgleL%:‘/(V:O%Kug(gﬁggé%)bLOTbha”“e'U”'WOSISVE”C’O’B 18,FALS sts,18,FALSE),(VLOOKUP(SAGS,DLCCOTChannelUnitCostsVendorB, 18, FALSE))))
| ; endaoriviix, s, e
srg  =IF(SF100,0,(VLOOKUP(SAG10,DLCCOTChannelUnitCosts, 18, FALSE)*VLOOKUP(SD1  =IF(SF10=0,0.F(SUM(SADS2:SAF$18)<449,VLOOKUP(SAG10,DLCCOTChannelUnit
0,DLCVendorMix,2,FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,18,F ;Costs|18,FALSE),(VLOOKUP(SAG10,DLCCOTChannelUnitCostsVendorB,18,FALSE)
223 ALSE)"VLOOKUP($D10,DLCVendorMix,3,FALSE)))) W
~IF($F11=0,0,(VLOOKUP($G11,DLCCOTChannelUnitCosts, 18, FALSE)*VLOOKUP(SD11, _ B _ .
S11 DLCVendorMix 2, FALSE)+(VLOOKUP($G11,DLCCOTChannelUnitCostsVendorB, 18,FALS ;Lfgi; ;ﬁggﬁdg‘g@gg&éﬁfﬁgS)Cz‘gigr&;?;ﬂifé%lzsegﬁi?g ?gaF”:f'SUE”)’;)(;
224 E)*VLOOKUP($D11,0LCVendorMix,3,FALSE)))) 18, ' : 18,
=IF($F12=0,0,(VLOOKUP($G12,DLCCOTChannelUnitCosts, 18,FALSE)*VLOOKUP(SD12, | _ _ _ .
$12° | bLGVendorMix 2, FALSE )+ (VLOOKUP($G12,DLCCOTChannelUnitCostsVendorB, 18,FALS "F($F12'0'0"F(SUMgAD$2'gA;$185333%?“%?‘%“f'\D/LCdCO; ?gaF'X‘Le'SUE””C
225 E)*VLOOKUP($D12,DLCVendorMix,3,FALSE)))) osts,18,FALSE),(VLOOKUP($G12,DL annelUnitCostsVendorB, 18, N)
=IF($F13=0,0,(SUMIF(SAF$S43:SAF $66,"Plug- I ) , .' ot
g3 |nintegrated’ ARS43:ARS66)VLOOKUP(SD13,DLCVendorhix 2, FALSE) +SUMIF(SAFS74: ;i;l':t(g“Fr;‘:’;(g:%g;f;/\'\ggé;$SZU$@§%2);;7449éi%“é'g;(fgis‘_“'$AF$66' Plug
SAFSG7,"Plug-inintegrated” ARS74:AR$97)*VLOOKUP(SD13,DLCVendorMix 3,FALSE)) " °9%% 50 Be i s A éoncentrétion%atio)*suz
226 /TR303POTSConcentrationRatio)*$U2 grated’, '
=IF($F14=0.0,(SUMIF(SAF$43:SAF$66,"Plug- ) i} , ‘ o
g4 [nintegrated ARS43:ARS66)'VLOOKUP(SD14,DLCVendorhix 2, FALSE)+SUMIF(SAFS74: i;:Efjgﬁ;‘:;;(/’ig;g&'ﬁg\g%0%';%2?;7449'silf:'\glgi(fgzg_‘3'$AF$66’ Plug
$AFS97 "Plug-inintegrated” AR$74:AR$97)*VLOOKUP($D14,DLCVendorMix, 3 FALSE)) | ; ’ : Plugs
007 /TR303POTSConcentrationRatio)*$U3 :mlntegrated ,AR$74:AR$97))) /TR303POTSConcentrationRatio)*$U3 B
T ZIF(SF15=0,0,(SUMIF(SAF$43:SAF$66,"Plug- I _ . ‘ —
g5 Inintegrated’ ARS43:ARS66)"VLOOKUP(SD15,DLCVendorhix 2, FALSE)+SUMIF(SAFS74: i;i';fFr;fe‘g:%g’;ﬁ,’/\'\gggg$§f@§;2€:§;"ﬁ’$ﬁzg§(fé\lz FASRATEE PG
'SAFS07,"Plugrnintegrated” ARS74ARSS7)'VLOOKUP(SD15,DLCVendorMix 3, FALSE)) | 0io0re o0 e e 30T C'Joncentr’ationgRatio)*SU .
228 /TR303POTSConcentrationRatio)*$U4 - SR '
T SIF($F16=0,0,(SUMIF(SAF$43:5AF$66,"Plug- _ _ ‘ ; "Plug-
g Inintegrated" ARS43:ARS66)"VLOOKUP(SD16,DLCVendorMix 2 FALSE)+ SUMIF(SAFS74: .r‘“':t($':1 f'(?..’%g;gﬂgggg%j@;%?;gf 49_‘$SAUF¥;F7(?QE$?3‘$AF$6G’ Plug
SAF$97,"Plug-inintegrated” AR$74:AR$97)"VLOOKUP(SD16,DLCVendorMix,3,FALSE)) |0 teg:gte o ARETA ARSI rrR303POTséoncentrétion%aﬁo)*sw
229 /TR303POTSConcentrationRatio)*$U5 Lt ' ‘
SIF($F17=0,0,(SUMIF(SAF$43:$AF$66,"Plug- )
- inintegrated” ARS43:AR$66)"VLOOKUP(SD17,DLCVendorMix,2, FALSE)*SUMIF(5AFS74: | -\ OF 17=0,0.(F(SUMISADS2SAF§18)<449, SUMIF(SAFS43:5AFS66,"Plug-
~lmtamratad ARC7A4- Q7\*\/ HipD/eN47 N C\/andn~rhAi 3 )

230

I {5
w$HF‘D\‘J7 "Piuu IIIlItLt;uIal,Eu YAND I &, Al $Jl} vLOuKur\@u 1w vVel Naorvi 1‘/(, )

|/TR303POTSConcentrationRatio)*$U6

g
|AR$74:AR$97))) /TR303POTSConcentrationRatio)

inintegrated", AR$43:AR$66), SUMIF(SAF$74:3AF$97,"Plug-
i d" 7
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A | B [ B c | D
TR e e o et ier it e i g s Bty L =IF(SF18=0,0,[F(SUM(SADS2 $AF$18)<449,VLOOKUP(§G 18 DLCCOTChannelUnitC
o ;E;VLOOKUVP'&B 4 "DL CVén;orMix e AL'sé)))L) SRS ‘ ‘osts, 18,FALSE),(VLOOKUP($G18,DLCCOTChannelUnitCostsVendorB, 18, FALSE))))
3 |E) .DLC 3,
wrn  =IF(SF19=0,0,(VLOOKUP($G19,DLCCOTChannelUnitCosts,18,FALSE)*VLOOKUP(SD19, : .
$19 : =IF($F19=0,0,IF(SUM(SAD$2:SAFS18)<449,VLOOKUP($G19,DLCCOTChannelUnitC
" D)Eg\(g'ggg\g(xééTQLD?_EC)\/gégOMﬁU; (Fi(iggE[)D))L)CCOTCha””e'U”'tC°5tsve”d°rB 18FALS ts.18,FALSE),(VLOOKUP($G19,DLCCOTChannelUnitCostsVendorB, 18, FALSE))))
1{ _ . S
|
o0 FIF(SF20=0,0(VLOOKUP(SAGY,DLCCOTChannelUnitCosts, 18, FALSE)*VLOOKUP($D20 00 TS A DS S AR R VL ORI AR B COOTChanneliG
|DLCVendorMix,2, FALSE)+(VLOOKUP($AG9,DLCCOTChannelUnitCostsVendorB,18,FAL | osts. 18.FALSE),(VLOOKUP($AGY,DLCCOTChannelUnitCostsVendorB, 18, FALSE))))
233 'SE)*VLOOKUP($D20,DLCVendorMix,3 FALSE)))) W0y : : i
o =IF($F21=0,0,(VLOOKUP(SAG10,DLCCOTChannelUnitCosts, 18,FALSE)*VLOOKUP(SD2  =IF($F21=0,0,IF(SUM(SAD$2:SAF$18)<449,VLOOKUP(SAG10,DLCCOTChannel Unit
e 11,DLCVendorMix,2,FALSE)+(VLOOKUP($AG10,DLCCOTChannelUnitCostsVendorB,18,F | Costs,18,FALSE),(VLOOKUP($SAG10,DL CC TChannelUnitCostsVendorB,18,FALSE)
234 'ALSE)*VLOOKUP($D21,DLCVendorMix,3,FALSE)))) )
$22 ?:‘F($F22=°'Of(VLOOKUP(sGZZ’DLCCOTCha”“e'U””COStS'18'FALSE)*VLOOKUP($DZZ =IF($F22=0,0,IF(SUM(SADS2:SAF$18)<449, VL OOKUP($G22,DLCCOTChannelUnitC
DLCVendorMix,2,FALSE)+(VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB,18,FALS .
- ‘ £)"VLOOKUP($D22,0LCVendorVix 3,FALSE)) osts, 18,FALSE),(VLOOKUP($G22,DLCCOTChannelUnitCostsVendorB, 18, FALSE))))
T =IF(SF23=0,0,(SUMIF(SAFS43 SAF$66, Plug- : : , " —
o3 inintegrated’ ARS43:ARS66)"VLOOKUP(SD23,DLCVendorhix,2, FALSE)+SUMIF(SAF$74: mI'Et(:giifeg;2\*ggg&“’gﬁgg%Uﬁ';?;i);gféi%“ééi‘?&ié‘_”'$AF $a8, g
236 ;??;3509;3g?gég;”é:g{gﬁgnF?;i;’;gﬁ?gw) VLOOKIR(3Daa DL Clendertdix,3, RALSED inintegrated” AR$74:AR$97))) /TR303POTSConcentrationRatio)*$U12
\ -
\
037 RN DL’é\ e dOFM?X Py ALS(E» ' w FETvrE AR$43:AR$66),SUM!F($AF$74:$AF$97,"HardwiredALL",AR$74:AR$97)))
- et el ' ' Shis ARS$43:AR$66), SUMIF(SAF$74:$AF$97,"CommonALL" AR$74:AR$97))
s26  ZIF(SF26=0.0.SUMIF(SAFS43:SAFS66, CommonADSL' ARS43:ARSES) VLOOKUPSY21, e gropo0 0 IF(SUM(SADS2:SAFS18)<440, SUMIF(SAF$43:5AFS66,"CommonADSL"
'DLCVendorMix,2,FALSE)+SUMIF(SAF$74:3AF$97,"CommonADSL", AR$74:AR$97)*VLO ; i W .
- DR ELEsstenis Fales) : /AR$43:AR$66), SUMIF(SAF$74:SAF$97,"CommonADSL" AR$74:AR$97)))
ggr  |CFUBR27=00SLMIFGARSS.SAFSER, CammonHDSL ARSAS: AR%.GG)*VLOOKUP(?YM =IF($F27=0,0,IF(SUM(SAD$S2:5AF$18)<449, SUMIF (SAF$43:5AFS66,"CommonHDSL"
‘ DLCVendorMix,2, FALSE)+SUMIF(SAF$74:SAF$97,"CommonHDSL" AR$74:AR$97)*VLO | ; s e e
- | SRR Bl B e Pl e | ARS43:ARS66), SUMIF(SAFS74:SAFSS7 "CommonHDSL" ARST4:ARS97))
g FIF(SF28=0.0,SUMIF(SAFS43:SAFSE6, HardwiredUniversal’, ARS43: AR$66)*yLOOKUP($ IF(§F26=0,0,|F(SUM(SADS2:SAFS 18)<449, SUMIF(SAFS43:$AFS6,HardwiredUnive
\ 1Y21,DLCVendorMix,2, FALSE)+SUMIF($AF$74:3AF$97,"HardwiredUniversal" AR$74:AR$ | "Hard d & 4-AR$97
241 | ‘97) VLOOKUP(SY21,DLCVendorMix,3,FALSE)) rsal ,AR$43:AR$66), SUMIF($SAF$74:3AF$97,"HardwiredUniversal", AR$7 $97)))
| gpg |TIF(FESSO0SUNIFISARSAS8ATSE0, Tommonlimversal’ ARFASARSEG] VLOPAK}JE (ﬁf‘} =IF (8F29=0,0,IF(SUM($ADS2:SAFS 18)<449, SUMIF(SAF$43:SAF 66, CommonUniver
| 121,DLCVendorMix,2, FALSE)+SUMIF($AF$74:8AF$97,"CommonUniversal". AR$74:AR$97) g i 0 o pu il g AU GO PSS
242 | 1 LOOKUP($Y21 DLCVendOrMIX 3 FALSE)) iS /'\Kbq'd ARDOO), DUlVll!‘(b/‘\l‘&l“ @I‘\l' 297, Lomm UHUIIIVE(&dI JARD M4IANDIT )
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A | B & D
| sz  CIF(SF30=0,0,SUMIF(SAFSA3:5ARSGS, Hardwiredintegrated” ARS4S:ARSE6) VLOOKUPS | gr30-0 0, IF(SUM(SADS2:5AF$18)<449, SUMIF (SAFS43:SAF $66," Hardwiredintegr
| Y21 DLCVendorNix,2,FALSE)+ SUMIF (SAFS74:SAFS0T " Hardwiredintegrated” ARSTA:ARS ~10F 0c i i e eAFS97 "Hardwiredintograted” ARST4-ARSST))
243 97)"VLOOKUP(§Y24,DLCVendorMix,3,FALSE)) ARBAZARIRE) ' ; egraled” ARS74:
|
s31 | =IF(8F31=0,0 SUMIF(SAFS43:SAFSE6,'Commonlntegrated, ARS4S:ARSEO) VLOOKUPLS | 05120 g IF(SUM(SADS2:5AF$18)<449, SUMIF (SAF$43:3AF$66,"Commonintegr
1Y21,DLCVendoerx,2,FALSE)+SUMIF($AF$74.$AF$97, Commonlntegrated" AR$74:AR$ ated” AR$43:AR$66), SUMIF($AF$74:$AF$97 “Commonintegrated"”, AR$74:AR$97)))
244 | '97)"VLOOKUP($Y21,DLCVendorMix,3,FALSE)) (et ARBARARIDAL ' : Sl
sy CIF(SF32=00.SUMIF(SAFSA3:SARSES, HardwiredNSW! ARS4S:ARS66) VLOOKUPISY21, || gr 50,0, IF(SUM(BADS2:$AFS18)<449, SUMIF (SAFS43:SAFSE6, "HardwiredNSW
| DLCVendorMix 2, FALSE [+ SUMIF (SAFS74:SAFSS7  HardwiredNSW" ARSTAARSITIVLO 1 0 o2n et GAFS07 “HardwiredNSW" ARS74-ARSST))
245 * OKUP(§Y21,DLCVendorMix,3,FALSE)) ARPISIARREE ' : el ]
e T ey e SOOI 0 O TS S G
246 | KUP($Y21,DLCVendorMix,3,FALSE)) ARS$43:ARS$66), SUMIF(SAF$74:3AF$97,"CommonNSW" AR$74:ARS97)))
=IF($F34=0,0, SUMIF (SAF$43:SAFS66, "Plug- e . _ or
S36 | INSWARS4SARSBE)VLOOKUP(SY21,DLCVendorhix 2, FALSE)+SUMIF(SAFST4:$AFS |~ F(8F34=0.0.IF(SUM(SADS2SAFS18)<149, SUMIF(SAF $43:SA7 899, TILS

247

97,"Plug-inNSW" AR$74:AR$97)*VLOOKUP(§Y21,DLCVendorMix,3,FALSE)) “

iNNSW" AR$43:AR$66), SUMIF(SAFS$74:3AF$97,"Plug-inNSW", AR$74:AR$97)))




